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Skills required for administrators of an organisation are

@ Hneuagdear Hliounrdls@rsEss Coamauwmar Sperser

M Technical, human, conceptual and design
Qsmféom L, walls, smss WHHID 6y euanbLiL)

(B) Planning, organising, staffing, directing and controlling
ArLflid, @ursanssd, uveflwurarisener HwUOSsH, BusEGso
wHpb sLHULGSSS

(C) Interpersonal, Informative and décis_ion making

sefliul L, gaeud wHmnib wrydeauriug

(D) Effective and efficient administrative skills
Uwgérar whmh Spewwrer Hireurs $perser

(E) Answer not known
aflenL Qg,uﬂu_uaﬁld)mm

While guiding organisation members in appropriate directions, a
manager exhibits
flmeuesn 2 prifenigener sflurer Havgsefler el pLEgID Gurg, @ Goemart

BL-gengenws s flu@sgdpmi.
(A) Authoritarian behaviour ny Leadership behaviour

Héab Qepsgib BLsms FHOVMWEFHIGUD BLEDS
(C) Administrative behaviour (D) Humanistic behaviour
QL Spern FTihs LSS wafls CruWsEs BLSDS

(E) Answer not known
eflen Ggflwelildena
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3.  Arrange the following events in chronological order
Getrau(pd Hlapeysear & cullanglilily. QHHEIGMLDEEE|LD

(1) Contingency Approach
BHEFLSD AGUSP®D
(2) Behavioural Approach
BLE®S SIFMGIPOD
| (3) Systems Approach
B HESGAPDD
(4) Human Relations Approach
 walls 2.pey SEGWED
(5) Administrative management

Blirauns Guoe reisrenLo
(A (5), (3), (1), (2), (1) ' M (5), (4), (2), (3), (1)

© @,0),2),3),Q) (D) 4D, 6), (2), (1), 3)

(E) Answer not known
- ellenL. Qzflwalicvena
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The only way to expand productivity according to scientific
management theory was to
sifleflwe Gueorarew Gsriumiger Uy 2 husd Hpmer sdsfluughane

eGr el
M Raise the efficiency of workers

(B)

()

(D)

(E)

Qgmfareriseflen Qewddpmen 2.wiisgse

Scientifically select the workers
gifleflwe fHwrs Ggmiorarigamear CaibOsH L
Improve cooperation between management and labour

Hlireungb WwHMID QzmfeneriaensdlanLGuw psgienplianL
Cobupsgisa . . .

Abandoning the differential rate system
Caugi L el ppevperws eseilHiged

Answer not known

. elen Ggflwelldana
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5. Henry Fayol formulated the principle where he

believed that managers should retain final responsibility, but should
at the same time give their subordinates enough authority to do
their jobs properly.
Qamenl HGumued, Goorearisar @moiF Cummlueu sésameusgdaTarer
Ceuarid  eremmy BOIABESTT, germd 2Cs Crrsdldr gmser Sphlae
Luemflwurenia@rsE Aeutsalen Ceumeseamer aflwums Oeww  Gungwmer
SFanrsans cuis GouarhHiw ererm pdlarmit

Y0 Authority
S STILd
(B) Hierarchy
© ugflee
(C) Subordination of individual interest to common good
Qurg B selpur Bomer SPUbHSSISH

(D) Centralization
enWIL(HSSH S

(E) Answer not known
alen Gsfweldene
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Which of the following is/are not acceptable principles for modern
business organisations?
Qeneupeuaraupmiar erg BHelanr euanfls DewliLdster ghmisbaTeaTer (g WwNs

QETeTanaSHET?
(1) Using participative decision making
uiGasphL apigCeauBrivensl LweTUHSSSHED
(2) Setting a personal example
safliu’ L aperorddl
(3) Acting as a conduit for cutting edge ideas
eflafliby Cuirsamanaemer Di@wUILSHETE afiSHLI0TE GewduBng
(49) Ensuring spread of knowledge
<flellen ureuane Hlimie|se
(5) Establishing two-way communication
- Goed Gsriwu Aneise
(6) Using formal management tools
papwren Guararens smeilaeneT LwETLIH SISO
(A) (2) and (3) only (B) (3) only
(2) wpmd (3) LLEL (3) wiHw
# (6 only (D) (4) and (6) only
(6) wr_Hib (4) wpmd (6) WL
"(E) Answer not known ‘ '

eflen Qg flwecbansy
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7.  Which principle of management emphasizes the need for unity of

command?
apgs  Coerarews  Gesmiur® — sifasry @omldliiy  sufluses
uSILPISHSDS 2
(A) Unity of direction M Scalar chain
WSS euflsmiL_d SjaredlLd BigmeieLL
(C) Division of work (D) Espirit de corps
Carenaarwitt udlipseilssa Campenin 2 erriey

| (E) Answer not known
cflenL Qgflwalilaeana

8. Which one of the following is not a recognised key skill of

management?
ELp S eTL6uhmIeT oTg) Hlireurag e WéHw SHpewwuns
g idsfNasiiuLclldeame ? _ _
(A) Conceptual skills (B) Human skills
sMSg Ser wells Smeir
M Writing skills (D) Technical skills

Tpda Smen Asmfoprug Sper
(E) Answer not known '
ellenL. Ugfweldene
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Which of the following is not a valid argument against the
universality concept of management?

Epssar_aupmear g  Coararewulear o @sameilu  smasHEE TEITS
aeussLILpL eurshsaten sflurarsdongg gl ?

(1) Differences in objectives
Crrasmsaten Geupumpaser
(2) Transferability of management skills
- CGuaorarenn dpensafier Lflbwmhod
(3) Differences in philosophies
spgiatisaiid 2 drer Caipun@aer
(4) Management in culture-bound

SOMEFSFT] TLMVSEGHET &L (R
/0 2 B) 1
© 3 ‘ (D) 4

(E) Answer not known
clenL Qaflwalcdene
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10. Which of the following is not a character of an excellent enterprise?
Qeneu(heuareupiledr ergl Hphs Hmeiarssler semand e ?

@)
®)
(©
o

(E)

Learned about the needs of their customers

sriger eumgsenswnarilar GCsancusaners LnH sidlbg GararrL et

Promoted managerial autonomy and leadership
Blireurs W H wHpb sovmbigusas CobuHsHug
Focused on the business they knew best

aliser pan@ ANbs auallsssd seuand Qegsdert
Had a appropriate organisational structure
Qunpsgwrer flpeuar dewiL BG5S

Answer not known
cllenL Qgflweildeney

I1l. Whichl step in the proce'ss of MBO involves reviewing job agreements

and developing performance standards?

&NsCamenaLw Coararen abs Uk Haouild Ceume 21 6y smssaner
wpufifoemer Gsleuamgwn, Qeuddlner griusmer o (HeursEGeumGL|h
2 dreTL&Hlwig) 2

- (A)
(©)
(D)

(E)

Determining organisational objectives
Blpicuar @aos@aamer Hliremmuigsse

Translating organisational objectives to employees
Blmeuar @ed@sener LiawlluTeris@hé@, WDIHnSeH

Stimulating employee participation in objective setting
@as@samer Hirerruiiiugld uaflurerisatics umCshanL pard@eilSseD

Ongoing performance discussions
pLUL Qewddpen elleungmiser

Answer not known
ellenL Qgflusildena
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12. Which of the following is the most popular approach to produce
results?

Qetreumauamaudled org (Pieysamer 2 (haund@Gaugnanar Waajb Aruemrer
DAF(SPDDPWAGD ? '

13.

S
®

©)

()

()

Management by objectives
&D&Csn@saw Cuararaw (MBO)
Rewards system

Qeu@gwd e
Management by exception _
dfellas@aw Cuurareaw (MBE)

- Consultative method

2 Camgenar (pen

Answer not known
ellent_ @sflwsilcana

In the MBO process, what is the purpose of setting smart objectives?
&P&Camepm_wu  Cuerdreawuiar desudwanled SMART gasssamer

Blramrudiinger Crrésb eremen?

A)

gf

©
D)

(B)

To confuse employees

veflwnarigenar @wLiu

To align goals with the organisation’s mission
fpeuargder GNa&Carar cunessgL e Qe&@Gamer FTanDsseD
To discourage innovation -

L|GIEDDEMET 26158 @D U LHESHISH0

To limit autonomy

usaflwreriler swr fenw sLELUESSISO

Answer not known
eflen. Gsflueidana
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14. Which factor is crucial for the successful implementation of MBO?
G&M&EGareranw Cuararawew Qeupblaynrs Qeudubss ehs smrenf
W&E L Teng) ?

(A) Centralised decision making
@LULUURSSLIULL wWigEa@HiéEn e

(B) Limited employee autonomy
Gepeuren Uasllmen(mé@, WLHIGW sFwrld

LC{ Clear communication
Qaafleunar gsmeusd Agm_iy

(D) Strict performance punishment
ahenwwrear QewdSpen ST _ener

(E) Answer not known
eflen Agflweildvens

15. One of the earliest management thinkers to use the terms MBO
(Management By Objectives)

&N&Ganererwu  Cuaradreow (MBO) eaam Gerdme uvweLBSHW
g Guooraremw Hbsmamureriseaied meu

W Peter Drucker (B) Heinz Weihrich
SCLiT gyé&asi _ Ganuierey Ceudiflé
(C) Harold Koontz (D) Portal
anGrreL snerl_e GuminL
(E) Answer not known .
allenL Qgfusildena
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16. The composite plan which involves setting up a long term objective,
finding a course of action and allocation of resources is called
fam_srer @asws Hrenbssd, Qeuaurigear Cursms sam_dsd wHmID
QUATRISEET PFIEGSHL PHuaubamp 2 eaersiu s (B b
T MNMPEHHIUHE DS

(A) Programme M Strategy
S b : 2 58
- (C) Procedure - (D) Policy
Qawepenp _ Oanérens

(E) Answer not known
eilen Gsflweiidane

17. Effective motivation in the organisation does not contribute towards
BmeuangHed uwgyeter sas@ellssd @ash@ unisalssng
. (&) Developing performance levels of employees

emfuiseflean Aeudgiper flanaganar GubuBSH S

(B) Helping to reduce employee turnover
uertlwumer sphflenit @GmnEs 2 GeyseH

M Resistance to changes in the organisation

 ppeesdd gHUGD LIHDHEEEES aditiy

(D) All the above

Cula 2 drer amansgib

(E) Answer not known
aften Qsflwelldvena
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18. The standardised way in which a task has to be performed is called
@ uaeflows Qeuw Gauadmgw sruuBdsuul L aflpen DeareuhLmm

DP&SLILIHS DS

(A) Procedure (B) Strategy
&L (PO 2 &4

(C) Policy M Method
Camerans (P

(E) Answer not known
afler Wgfluafdency

19. Who coined the concept of “Economic Value Added”?

“Sleser Carsens UL eTenD &(HSMS 2 (HeuTSSWeuT wimi?

m Joel Stern (B) Rosser Reeves
T e AT ) Grrevevit Teusv

(C) Christian Gronroos (D) Neil. H. Borden
Aevigwesr &SGrméenev Bev. erg. GumiT@_sr

(E) Answer not known
aflen Ggflwaeiichena
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20. This theory has dealt mainly with anatomy as formal organisation
@ps Camium® psdunrs epurar  d@wllar o pemplued
Qgmfureng
M Classical organisation theory

vurgbufu emwouy Gariur
(B) Neo — Classical theory
ydw — urpouflu Garur()
(C) Systems organisation theory
wenan ety Camumi
(D) Contingency theory
. sholFwe @65!5'96;4 Camium@

(E) Answer not known
ellen Qs flwaidena

21. Validity in research refers to
ol L rmiss eeug arens @GHsHDa
(A) The rigour of the study
Spieller shann
M Procedures applied to find solutions
Sireyseners seLMuL LWGTURSSILED HOL APODEET
(C) Procedures that provide repeatability and accuracy
BerGd Hlawsse| wHmbd oetusims auPhI@GD HLPODESET
(D) Academic discipline been trained
&6l @pasd LUHS
- (E) Answer not known
alenL Qgflwelldene
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22. A particular research-design step is inadequately assessing the

required scope is

Gsameuwnar Cprésseans wIHOSH Gauw Gampeuns o erer Hae

w Tripping point
sbwrppl yerafl

(C) Rehability
pmuaggmmm

(E) Answer not known
eflenL. Gz flweldrens

(B) Credibility
Symwresilwub

(D) Empirical

<3| &I LIG LT LD TENT

93. The way in which companies conduct their research and how 1.:hey

collect the data they need is

concept.

@y HpeaThseT ShiseT LTusflew Teueunm FLSSGHTDen eTemuemGLLb,
SauisErsEgs Gsmewrer greeu ereusury Geaflaflprisear earemumgub

GTeTLILI(HLD.

&Hs8pg) _
w Research Methodology
DTTMOES penDpenLD
(C) Survey

<6y

(E) Answer not known
cflenL QgMweidens

(B) Marketing
s@FILOSED
(D) Pilot Study

el e

24. A possible solution toa problem based on research and knowledge

means

LTS whpb aPlellen gl d g Srssmansd @@ ST LDTeT

ey ———— aufiapenpum@id.
(A) Observation

& 6B TeBt] 1L |
(C) Prediction
pereTmailiy

(E) Answer not known
cllenL Qzflwelcrendy
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&g Carer
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25. Which of the following statements are not the purpose of literature

26.

review?
Gemaumb eThg Siflsamasst Gasdun uffameanier Crrésn b ?

(A) Provide foundation of knowledge on topic
s@aluy GHiss bleiledr viyssersas alphiGsd
(B) Identify inconstancies and gap in research
< TTUEN WG 2 drer apramUThHsHT wHnb G Qeuslsmensd seam_Hlged
(C) Justifying your research
2 ST Y rmiFflepw Hlumuiubhssse
@ Essay/Report of entire article.
WP sLBdrssTer sL(Heny/héms

(E) Answer not known
ellen_ Qzfweldena

The Mean and Mode of some data are 4 and 10 respectively its
Median will be

foo greysailen @eLflww wHod wep, weonpCu 4 wompw 10 s
BHESTD, BT DT 6TEIET ?

A 1.5 : - (B) 5.3

(C) 16 B 6

(E) Answer not known
alenL. Asflwelidana
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27. Determine the Arithmetic Mean of salaries of the employees :
Employees No : 1 2 3 4 5 6 7

Monthly Salary: 12,000 14,500 8,500 13,500 13,500 17,500 11,500
eemflwiisatlen sbLeTsdlen cramsamils errefleow Siorelssa

2aTLfl W SHeT 1 2 3 4 5 6 7
wrg Fbuerd @ 12,000 14,500 8,500 13,500 13,500 17,500 11,500
(A) 17,500 - g 13,000
(C) 13,500 (D) 14,500

(E) Answer not known
clenL Ggflwaicena

28. The extent to which data is scattered about the zone of “Central
tendency” 1s known as :
“eowwl . GursE®  vwarLegost udPlu  srey ahs . erellh@
Agpiyssliuc_harerg erenugl SiPlwiLGEpg ?

¢ Dispersion (B) Median
(Slamd) Bptidfens @erLiflenev

(C) Arithmetic Mean (D) Geometrical Mean
anl_(p syne ' eugeflwed gymafl

(E) Answer not known
alen Ggflweidena
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29. The following are examples of interdependence method of analysis

except
Geneumeuareupdd orgy genmisQarary smipdmeEGD LGUUTLE papudler
THSHSHEHTLH ————— Sibe.
(A) Factor Analysis (B) Cluster Analysis
arrenil uGLumle Qargg ugliumie,

(C) Multi dimensional scaling M Conjoint Analysis
veuflore gereil(HHea gl () LGLUTLIG]

(E) Answer not known
| e GaNwedene

30. In which of the following, reporting format is formally prescribed?
Wemaupd Psansuilid aqeutisafler ergy wanpwns uflbgamysasiuBdpg 2
@0 Doctoral level thesis
pavereli Hlenew g iieuhlsans
(B) Conference of researchers
G rmuFflunerisefien wABTH
(C) Workshops and seminars
ULt OD&Er HDID S(HSHSTRIGEET
(D) Symposia
HGurdlur (SEHSSHGSET)

(E) Answer not known
ellenL GQgRweilwvene
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31. Given below are two Statements, Identify the correct statement :
&Gy @revh oPsmasdt Qsrfssuul@erarar, slwumanr  HHlsmasemnw

aerLflua.

Statement I :  The research questions should be linked to each
other.

cursAwbd I D ymiasdl  Caeteflaer gaCprOimeny Eeardstiu
Geuamr b

Statement II :  The research questions should be either broad or
narrow.

curgdwnd 11 D g musf) Cedrellasdr urbs odes Gndwusts BEEs
Geuar(Lb.

(A) Both Statement I and Statement II are true
aursEwd I oppd arsfun II @rariin e aran

(B) Both Statement I and Statement II are false
aurgdwib I wHmbd eyrsdund I @@ seum

w Statement I is true but Statement II are false
aurgfwid 1 o amenw e eumsdwd 11 seum

(D) Statement I is false but Statement II are true
aunsHww I seum e eursdlwn 11 2 arenw

(E) Answer not known
cflen Qgflweddens
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32. Identify the correct sequence of empirical steps in the linear model
of the research process is
< rmiEs  Qswdapepuler  Cpflwe wrdfude sflwurer Ggroréflwrer
LIl SENeT <SG IMETLD &TemTeLb.
(A) Sampling — Theory — Interpretation — Collection — Validation —
Hypothesis
wrHfl — Cariur® — efetsan — Grafluy — sflurtay — smgCararser
W Theory — Hypothesis — Sampling — Collection — Interpretation
— Validation
Camrunip — a;@g(‘&a;rrma;m wrfl — Ceafluy — afletdsd — sflumiiy

(C) Validation — Theory - Hypoth931s — Collection — Sampling -
Interpretation
glumTiy - Garlur@ — a;@g,;@a;rrma;m - @&a;rﬂul_; - wrslfl - sAaTés0
(D) Collection — Sampling — Hypothesis — Theory — Interpretation
— Operationalization
Gaafluy — wrdlfl — spgtGsrdsar — Gsriurh - Hadsd -
QewurH&gs Garar®), eumso ' |

(E) Answer not known
elen_ Qs flwelldenew

33. All cause non sampling errors except:
@aranps seily, emarsgib wIHf sdang Weanpasaar FHLOSESeman
(A) Faulty tools of measurement
Soupme BiaTeil B H(hellser
M Inadequate sample-
Gungmer wrdlfl @deame
(C) Defect in data collection
srey Ceafllbed @ampun().
(D) Non response
udeeallEsrseuisaar

(E) Answer not known
sllen Qg flwelldensy
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34. The process is not needed in experimental researcher is
Gergamar < rmiuFflunaimsE @by Geudean Csameuuldame

SHGLD.

(A) Controlling
S (HUupSse

(B) Observation
sasmentl LIy

(C) Manipulation and replication
MSWIMEHEED LOMID @71 1o SSHeD
M Reference collection
@Muy Gaafltiy
(E) Answer not known
dfllenL Wgilwedcveney

35. The critical difference between experimental and expost facto
research lies in terms of
unCenganenr wHMD  erdev@umevl. LHCLEGLT G rmiss&EE e Cuuwires
wpé&Eluwrer Caupium@ 2p(GHLD.

(A) Selection of sample
wrdfsener CaibAsH UL ‘

(B) Casual connection between two variables
@ranp wrhlsdr @enLGu arye CgrLiy

(C) Use of research tools

C QMU SE smelEeeTi LiweTLI(hEE g0

M Control and manipulation of independent variables

&shdlr wrhseflen sLHLUTE WHMID OSLMEESHED

(E) Answer not known
e Qgflwelidena
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36.

37.

A statement which assert probable answers to research questions

and in a simplest form is guess
pyni&s) Caarella@rss ersduwrar ufldsmer e pEULRESID @ HS®S

Hnib aaflewwrer cuyeusdld Qg @@ Web GTeiT M SapELD
M Hypothesis (B) Problem process

&g Gamer faad Aawudpenp
(C) Unit analysis (D) Relevant variables

DG LIGUUMDGY ' Qg,rr'l_r‘rqam_u_l wrlser

(E) Answer not known

eien Qafweidane

The problem definition stage of the research process probably is
most important but often neglected by the researcher who said this
statement?

< TrIES) @&u_la)(y)mmuﬁlm fésd euenquery Hew Bles sfubrearsns

Gmésmbd” oyarmd QuEpbLigd Qg rrusFfuraryred qmasasmﬂa;asuu@é]m@
eredrmy wimymed Glemdeulii L g)?

(A) Kerlinger # Zikmund
Qafredlmsi gl &weRTL.

(C) Francis Bacon _ (D) Martin Shuttleworth
Gprerflav Gusgar T 1y 6 agLigebleu g

(E) Answer not known
eflenL Qgflweldena
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38. Arrange them in a logical sequence involves step in process of
problem definition :

wpepwuner siss FfHled seupon aflesivhsgeag Hesd warummuler
Qewudum’ g 2 6eT ULSH@EaT 2 deTLddlug:

(a) Identify key problem
Wp&Hu Grsfleransener e WITETD STETELD
(b) Determine the unit of analysis
UGLUTle| Seg Shwraflsse)b
(c) Isolate and identify the problem not symptoms
Sif@Daamer e, 19rsflearani e wmard &b 6l smerenniger
(d) Determine the relevant variables
Qurimsswrer wrdladr Siwraflss
@) (@, ®), ), © & @, ©, b, @
G (@, ), (©, b (D) (@), (b), (), (d)

- (E) . Answer not known
alilenL Ggflwailchenew

39. To set the purpose and focus of the research with the fundamental

questions
2 UGUITESMS WD DOMIDL LUTTeILD s pTmUFHuder Ly SigluemL
Caatellsaner 2 (Heund@eug) eretLiLi(HiLh.
(A) . Research design Qﬁ Research objectives
_ <6y auigeueLLIL ' TTLES CHrésnhser
(C) Research methodology (D) Research problem
SLITUES WpenD L TMIFS SEa6D

(E) . Answer not known
flen Qzflwuelidena
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40. The research, it is related to preliminary survey or pilot survey is

41.

42.

called

L Teummis 6] Hnib Sanaenld e ASTL Ty W Hprridslenw

D&HLD.

(A) Motivational research
2 HFIBHD Y, TMUFH

w Social research
Fop& e

(E) Answer not known
alenL Qg flwelleens

(B) Artistic research
SN0 U6

(D) Humanities research
waflg sidlaflwe gyrmisH

Which accounting concept ensures that expenses should be
recognised in the same period as the revenues they help to generate
Qeavellariizer, ojeney o (HaunsGeagh@ 256 b auhamiaeErlear @Gy &
sl Lgdle omsaflssiuL Couarb aarums ahs sansdwd smss 2nd

AEEAL YT

(A) Materiality concept
Qummer H(Hss!

‘Gf Matching concept
pSHmaas S(hSgL LG

(E) Answer not known
ellenL Qgflwelerena

Journal is alsoc called a
GSOUGUL e LHEDTEE QuwT

W A day book
Brar @HuGu

(C) Ledger book
CuGrh ysssb

(E) Answer not known
eflenL Ggflwueafdane

25

(B) Conservation concept
ULp@LOUNTEEE(HSS

(D) Entity concept
Bpeuas smsg)

(B) History book
euyerHmi LSSELD

(D) An entry book
@@ Loy Lspsld
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43. Refer to the left side of ledger account as
CuCrp samé@saaiiear QLg Lsssms GHLTRug erg 2

@ Debit side B) Credit side
LD@ILIL&GESLD GUTELILI&SLD

(C) Footing (D) Balance
SllgSgerid UGN LT

(E) Answer not known
eflen_ QgMweldena

44. When furniture is sold for cash, the entry should be made in
geteuTLhger Crréssdne Apstiun Curg, @ps udey GelwuriuL

Geuar(pibd

(A) Sales book (B) Journal
aflipuamens @GolLGU® GSHUCGUE

(9{ Cashbook (D) Petty cash book
Qoréssaemss Howens QewGa

(E) Answer not known
et AgMweldvena
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45.

46.

Expenditure on purchase of books, furniture, investments, buildings

etc. 1s treated as capital expenditure
USSHRGET, SeTeUTLEISGET, omsssiblsmems, aslgLmss  GuTeapeubhenm
euThRIGeugDETar OFwaysdr pagard Dewesamasd &msliLihdlarnar

&0 Other capital payments
A epegers QaeTHLUGTEEET
(B) Subscription for periodicals -
Liheu @S0&ER&STaN ShST
(C) Other revenue receipts
9o eumeumd) EGIsET
(D) Honorarium

i duind

(E) Answer not known
elilenL GQgilweildanc

ThlS depreciation is charged evenly every year throughout the
effective life of an asset
@@ Qersden Lwgnérar eumprrer peugid Cauwwnend gelCeunm Sy aTEILD
FOOMS @GN &SULIHS DS
(A) Diminishing balance method
i @erpLiy Hlene
(B) Annuity method
&meliLilg (penm
(C) . Sinking fund method
PRGL B e
#5  Straight line method
GCrrGarh qpen

(E) Answer not known
aflenL AgAweildena
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47.

This depreciation method is recognized by Income Tax Authorities
as well as Companies Amendment Act 1998

@pg GCsulunrend apeny euhwren eufl sflanflser wHmb Hyeuatse S5
FlLb 1988 & yissfsslul Hererg

(A) Annuity method
ABHSAFTNS panm

(C) Insurance policy method
' sruSC(hH Qarearens perm

(E) Answer not known
ellenL. Ggflweldens

(B) Depreciation fund
Gguwiwomen B

m Written down method

WIS G@nULy @pen

48. The fund contains assets donated by the donor with stipulation that

income earned by these assets
@bs Qsrsgssemd LU

GU (MFLOMETLD

erenip  FluBSMETIL L6

penGlarenwirarpmed pembaren_wellssliu_L denggisaer Bldulidr o eremenr

(A) Special fund .
fpuy B

Endowment fund
BIm&sLL_ener [l
(E) "Answer not known
eflenL Qgflweldena
49.- Bank Reconciliation statement is

cuaidlg sflalHib UL iguied ererLg,

(A) ledger account
CuGr(H semss,

W a separate statement
@ safl Sihsms

(E) Answer not known:
ellen Qafluefdene
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(B) Capital fund
gpagan B .

(D) Donations
BerblamenL

(B) Part of the cash book
Ayrésls UssssHdar @, uGS

(D) a sub division of the journal
GOMUCuU@eiler gienarr 19fley



50. Preparation of Trial Balance helps deduction of
@muy fleve @hueru surfliuge (pead

(A) errors of principle ~ (B) errors of whole omission
Qpdlapenn Wenip Qursg AE Weny

(C) errors of compensating M clerical errors
FR el Genwp semaaremten Senip

(E) Answer not known
eflen @gflweildena -

51. What is the purpose of using trial balance?
’ @muyblews @hueu 2 LGuTsluRsSeusharar CETésD ererar?
(A) Itis afinancial statement
88 o6 fF oo sdlsos

(B) It records balances of a balance sheet )
@& @ouyblews sansdear @@miiLssamar udey Ceuidng
(C) It doesn’t contribute to the accounting cycle
@g semsdlud sphseE ukisalssTg)
& It records balances of accounts _
B saws@saten Hlaimeausaer ule Geiifps

(E) Answer not known
allen Gsflwueiidana
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52. The two methods of preparing a Trail balance are
Bmuyblena @hluy gurfluugharar @rear® (pepadr

(A) Financial method and total method
Béwpeon wpmb Hvrss e

(B) Total method and normal method
Qrss (pern WHMID FTSTIET (PenD

(C) Balance method and financial method
By peop whmid Hfepenp

@# Balance method and total method
-QBUy @ep wHpd CLTss e

(E) Answer not known
allenL. Qgflweldrens

53. What is the usage of utility software?
pweurl ({ QuerGummmeier LwsTLm eremes ?

(A) It is developed for audit purpose
s
@5 safléans Crrassdpans o (heurssliul Lg)

(B) © Sampling data for testing
Gangenansarer wrHil grey

M Performing debugging (or) analysing various aspects of usage

Warpsd(pssh Gaugd g LweTuTlger . LGan IbERIGHET
L@GLUTley Ceiigea

(D) Redoing calculations
samssHaemar Barhib Ceidng

(E) Answer not known
cllenL. Gsflwefldvena
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54. Audit memorandum is
senllsang @DULTERT eTaTLIS!

55.

(A)

(B)

©)

)

(E)

To helps in spotting out extra ordinary expenditure
sigrgryen Qeuclamamand bl 2 goydng

To shows the work delegated to staff
verflurerigefiLd @uueaLssiul-L Gauamaawd sm Hidng

To allocation of work among joint auditors

gl () seaflsmsunariseiiaCu Ll @f&&E0

A statement containing all useful information regarding the
business of the client. . i
aumgsesurerilen  euenflab  Qam_turer  earsgy  LweédTer
FaeudGanand Camam Plsens

Answer not known
eflen QgMwelldena

The term ‘Audit’ is derived from

ehg Gumfule Qmbs ‘saflsams ey Gerd QupliulLg

(A)

(E)

Greek ‘ (B) Roman
HCré&sib : Grmnesr
Latin (D) Egypt
WS : adluig

Answer not known
eflenL Agflwueildensy

31 385 - Business Administration
[Turn over



56. From the following which is not a wasting assets
Qemeumeuaraupiier erhs qearm eiemmmen CEndg e ?

(A) Mines (B) Quarries
GRS BISET Geumsar
(€) Oil-Wells @ Goodwill
eraiur(ol amTi1 &l e Qgmfldr pamodliiy

(E) Answer not known
cllenL Qgilwaicrene

57. Which of the following are main objective of manufacturing account?
Qemeumeuameupbbled erg BLLILE sertdiE Blifeuragsden apsdlu CoreaswmEd ?
(1) Cost of finished goods produced
surfldsur () wpusasnul L Quinme saflar allae
(2) Cost of goods sold |
- pp Qummsailer damearpge flene
(3) Constituent items there of such as cost of material consumer
mariuGon Qurmelsr aflene Cumern ppedanm GummeTaser

(4) To show the net profit earned
flar erugeng smii

A)  (3) only | @ (1) and (3) only

(3) L@ (1) wpmd (3) LLEWL
(C) (1) and (2) only (D) (2) and (4) only

(1) wpgid (2) v b ' (2) wopmib (4) b

(E) Answer not known
eflen Agflwuelceney
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58.

59.

All expenses and gains are transferred either to trading or profit
and loss account

Sn@EEH QFOGET WHMID OTURSEH UTSSEHD HHDWG @M BeigL sansdld
wrHmLuHin
(A) Posted in a liabilities

Qummiiysatledy ufe| GelwtiulL g

(B) Adjustment of entries
2 grathsaner sflQsISD

(C) Opening entries
Qe &s udeysar

M Cloéing entries
Budo ugleser

(E) Answer not known
eSlenL. Qg,rﬂmsﬁ]@mm

Vendors in such cases they have made changes of receiving the
discount at the end of the accounting year

aggmaw shgiiunseilcey ellpumanuneaniser sawsfud gLamger @nidludd
seTEpLig.wl dupeudler wrhphisemeard GQewigdrerari

M Provision for discount on creditors
SLGIT GULDEI(HLIGUTHEHE G SET@HLIG GULDHIEHSD
(B) Provision for discount on debtors
sLaTneflHEHEE SeTEhLIg. GUPEIGSH
(C) Provision for bad debts

Guongwrer sLansERéEaTan Humd

(D) Provision for doubtful debts
spGsasHDGNL sLdaERsEaTa gHLTh

(E) Answer not known
slilenL Ggflwaldene
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60. This account is more concerned about their cash position, instead of

61.

surplus or deficit

gs seég eufl upprégepsg udors Seisalar uar Hoo Gllss
2Hs qsson CerarpHerarg

(A) Balance Sheet

Bouy fleows gy

, M Receipts and Payment Account

| réFE&eT LOHMID Lemd CFaussib serrdd
(C) Profit and Loss Account
QML eyl HawTd &,
(Di Income and E:;cpenditure Accou.nt
aurey QFwaels &awsE

(E) Answer not known
cllen Qgflweldene

The formula for calculating Break Even Point in terms of sales value
18 '
flpuenar  wHGear  @grumLwld  gpdley  soBleen ydraflaw
sa@&Esl QeughaTar GsSHno ‘
(A) Fixed cost x Contribution Margin Ratio
Henowimen Wawey X ukGshy fflsib
ﬂ Fixed cost + Contribution Margin Ratio
Beoowurar Qewa| + LkGspy eN&s0 '
(C) Fixed cost — Contribution Margin Ratio
flenwwrer Qewea; — LGsHY g

(D) Fixed cost + Contribution Margin Ratio
Hlenoowimen Qegewey + umGsphy aldlsbd

(E) . Answer not known
allenL Qzflweldana
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62. No profit, no loss point is also called as
@erugpd BLLaph @darl Yetaflew @eieummd smpeabd

(A) Investment point M Break even point
ppeSET LyeTer] apdleyéd swHleneors Lyerar]
(C) Circle point (D) All of these
eul L erafl Lleneu MATHSID

(E). Answer not known
e Gaflueiheane

63. Risk Bearing Theory of profit is associated with
usgE ghys CariurLen Qgrfyesweur

(&) Schumpeter ¢ F. B. Hawley
ST F. B. aprel

(G J.B.Clark : (D) Prof. Knight
J. B. fletnis Gurr. eppL-

(E) Answer not known
elenL Qzflweildana
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64. Gross profit is
Qurgs @eTud ererug

(A) Total Revenue + Total Explicit costs

Qurgs eumeuml + Geuaflinen wrs Agflubd Qwrgs Qeweyser
# Total Revenue — Total Explicit costs

Qrés eumeuris — Geusfliuant wrs QAsfluyb Cwrss QFwea|sdr
(C) Total Revenue x Total Explicit costs

Qwrss eumeumi X QeuafllivenLwrs Qaflynd Awrss Gewalser

(D) Total Revenue + Total Explicit costs
© Qorsg eugpeurts + QeuafliiuenLwms Qg Gwrss Caweser

(E) Answer not known
alenL GsMweldena

65. “A Profit is a mixed and a vexed income” was given by
 @erub &L rer eas&sfiadeTn ei(heuTl eretm s dluieur

(A) Fisher # Taussiq
Slagir Lrdlg

(C) J.B.Say : - (D) Marshall
Cg.\. Go DTGP

(E) Answer not known
cflenL GgMwsllcrena
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66.

67.

A managerial economist helps the management in making decisions

relating to internal operations of a firm is
Cuenarean Qumrmertsty Hlyewri e Bneuarsdar o6 Gaudurhser

GsmLiurer pige|sener Guareents 2 geydlng.
(A) Environmental forecasting QBY Business operations
GHMIFSLPO peretdlediiy cUERTS BLGU G &ENGSHET
(C) Sales forecasting (D) Economic forecastihg
 efpuener apeandlediy Qungerrgmy pamendlediLy

(E) Answer not knoWn ,
eflen QAgfwaildeana

The modern theory of firm holds that firms behave in a way that is
designed to maximize
Ppouangdler  peiar  Gamlur® Hncuandlen  pLsws é@e«;m_&mrra;

& lq_mmma;a;u u|_®enmg,1 ereTn SamElmg

(A) Monopoly power (B) Profit
galuns LHpnd QUL
M The value of firm - (D) Total revenue

Bmeuengdlem iy Qrgg eu(meumi

(E) Answer not known
efer Ggfwaiicena
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68. The primary concern of Economics is
QAUITEBETTSITSHET PSHTELD NGSDD GTTLG)

(&)
B
©
(D)

(E)

Maximising profit

Peorusmg iflafssd

Allocating scarce resources
LUHDTEGDD euaThiGMaT R&ISESEH Celisd

Minimising cost
QeayseneT EamDdSe

Increasing consumption
misiteney oflafssd

Answer not i{nown
eflent Qgflwefdene

69. Who is considered the father a modern economics and greatly
influenced managerial economics?
peler  Gummermgrrsden shengwuns smsLUBUT  wHmbd  Goeraman
Qurwertgmysden Qulgib Qedeund@ CFausgLeur wmi?

¢f Adam smith (B) Karl Marx
gL th sl &M LDMT&HEL
(C) John Maynard Keynes (D) Milton Friedman
somar Guoesmirl Seraiv DevL_eim HLif_Guoesr
(E) Answer not known

cflenl_ Ggflwaldeney
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70. Which of the following is a characteristics of monopolistic

71.

competition in managerial economics?
Gemeumd  uamyselie  ag  Cuerdren  Qur@ersmsded  geGumsy
Cur_gumgb?

(A) One seller dominating market
@ dpumeanunart sghanguilds Hssn Qegissdlprr
(B) Price taker behaviour
' Aeva euriiguaufer pLSns
(C) Identical products
@Cr prdflwrer Gur@mLsar
M -Many sellers with different products

udCeumy GuUrmLsERLe Le 6flhuanamumeTiaeT

(E) Answer not known
eflen Gzfweiidena

Compensation of the employees comes under the measurement of
psmfuirgsefler @uulE ersem Sip aumADg

(A) value added method (B) personal income
oL sl AUl apen SSMULIL L U(HLDAGTLD

M mcome method (D) personal disposable method
QU(BLOTET (PenD &edEEH safliiuc. - Qaoeufitiyy apen

(E) Answer not known
aflenL Qzflweldans
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72. Gross Domestic.Product (GDP) deflator is
Qurgs eapr @ 2 pusd (GDP) gepiurer aaug

(B)
()
(D)

(E)

Nominal GDP

100
Real GDP

uenr wduy GDP

%100

o awrenn GDP

Nominal GDP — Real GDP
vesrwdiiy GDP - e aéwens GDP

Nominal GDP x Real GDP
uarngiiy GDP X 2 gwenws GDP

Nominal GDP + Real GDP
uarwndiiny GDP + 2 awerwn GDP

Answer not known
eflen GQgflweldena
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73. Profit limiting factors are
@aoruges sLHULBSED smyenflaer

1. Internal factors
DI &S FTeRTlSeT

2. External factors
yné sryarfladr

3.. Political factors
Sirdwe snreflser

4. Laws
"FLI_LD
M 1 and 2 are correct (B) 3 and 4 are correct
1 oppd 2 & 3 wHmw 4 &
_(C) 1and 3 are correct _ (D) 2and 4 are correct
1 wpmitd 3 & 2 wppd 4 &

(E) Answer not known
eflen Qgflweidena

74. The selling price of a product is Rs. 20 per unit, the variable cost is
Rs. 12 per unit and the annual total fixed cost is Rs. 3,20,000.
Calculate the break even point
e Qummetichr, eflpuenan eflene qif D@ 5. 20 siger wrmb e i
Sodhe m. 12 eiga u@Lisdy Gorgs Hoowra e a. 3,20,000
erafléy apdley swblanay yerellenw semradlHa:

(A) 4000 units _ ﬂf 40,000 units
4000 @ser 40,000 g@sar

(C) 400 units (D) 4,80,000 units
400 se@ser ‘ - 4,80,000 siexgsar

(E) Answer not known
- aflen Qsflweildrena
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75. Depreciation is also called as
GaWinrand ereruens @UUG LD saneoib

(A) GDP deflator
GDP @epuurer

(B) Net indirect tax
Bay wennaps sufl

Capital consumption allowance
ApeSEan Hsie| sipley

(D) All of these
Baneu manSFid

(E) Answer not known
aflenL Qgflweldana

. 76. Arrange the following in order :
Demeu(meuameuphenn euflapsu(hdsis.

1. Creeping inflation
variihg QEeIb LaTeissD
2. Hyper inflation

<sifls (or) 2w uaTeissD

3. Running inflation
Qurigb uaeissid
4, Trotting inflation
BenL L1 Ligmei&aid Bidag SeTEn Lameissd
(A) 1,3,4,2 : B) 1,2,3,4
@& 1,432 D) 2, 3,4, 1

(E) Answer not known
' alleni_ Qzflwaellerensy
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7.

Assertion [A] : The expert’s opinions method is a very simple

and quick.

adluymsse [A]  : Hyewtseller smss ep aeflewwureag wHHID

eflenpeumeng).

Reason [R] : It involves no danger of a group think

mentality

smyend [R] : Qm G wageeile fifsEn usm Qe

@evane

ﬂ ~Both [A] and [R] are true [R] is the correct explanation

(B)

)

)

(E)

of [A

[A][ .:Lln‘r_f)gmb [R] @respw sfwurememe: [Alés, [R] srenr sflumer
eT&ESLD

[A] 1s true but [R] is false

[A] efluremeney gemmed, [R] seuprenena

[A] is falsé, [R] is true

[A] seupranenay, [R] sflurarana

Both [A] and [R] are true but [R] is not correct explanation of
[Al

[A] womin [R] sflwrenenen ey [R]er clangain [Alsg Qurmpbss
Answer not known

adenL Qs flwuefldanc
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78. Which type of the Business forecastings are qualitative and
quantitative analyses?
abgs euenswrer euenfls peamemdleiiiy sSpwTer WHNDL BETEYy B UiCUSEEET
Carem(HeTerg,

1. Micro economics demand forecasting
Gaemeu pemePladiviLy misremiuiier Qum@errgmyLd

2.  Macro economics demand forecasting
Caameu (emerPladiiy Cuflwd Gumperrgmybd

- 3. Industrial level forecasting
Qamfled gianp ojeTeyarar (peiardleiliiL

4. Long term forecasting
9 sTe) BieTey (pemarmiediLy

(A) 1only ﬁ’ 1 and 2 only
1 vl @ ' ] -1 wppitd 2 vl Hibd

(C) 2and3only (D) 3 and 4 only
2 opoid 3wl 3 whHmb 4 w Hb

(E) Answer not known
aflen Qaflwaiidena -

385 — Business Administration 44



79. Arrange the following events in chronological order :

sre aflerguy Qereumd Hlapasena aiflestiubGsan:

1.

(A4)
(©)
(E)

Trough

FTpeurer FpLiyapener
Peak

o F&LD

Contraction

a'r@e'sa;Lb

Expansion
fleumgaid

2,3,1,4 B) 1,2,4,3
3,1, 4,2 #4231

Answer not known
aflen Ggflweildena
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80. Choose the correct answer.

ghlwurer eflenenw CsiipEsHdsEaLb.

1. Bent Hansen —
Quer emerees

2. Friedman’s view —

AR Qe sESS

3. Keynes —
Sleen

4. Ackely —
-1

(M 1 and 3 are correct

1 wpmw 3 sflurerene

(C) 2 and 3 are correct _
2 whpib 3 swrarana

(E) Answer not known
aflen Gsflweldeana

385 — Business Administration

‘Excess Demand model

afla ugwnrer Gseneu Wl

Temporary phenomenon
sH&EMdl& BHL 6y Sans

Demand pull inflation
Coameu G UaTaisahd

Cost push inflation
Qewey garEs Lamaisshd

(B) 1 and 2 are correct
1 whmiw 2 sRurerteney

(D) 3 and 4 are correct
3 whHmid 4 sflurerenal
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81.

82.

A ‘Service product’ consists of

@@ ‘CGemes gy erarug|

(A)

(B)
of

D)

(E)

Facilitating goods and explicit service

FT&EGSET LHNIL CeuatiliumLwrer Ceameusamner ereatlsns @sed
Facilitating goods and implicit service

FTHGSSHET HHID waPWs: Cemeuami eraflgnsEg o
Facilitating goods and explicit and implicit service

sTs@EeT  wHmb  Ceuefliuen wner  wHmb  wepaps Cemeusenar
ereflgna @

None of the above
CupeaPluepdler agie|lldame

Answer not known
aflen Ggflwefcena

The overall objective of the operations subsystem is to provide
QEweLm’ (% glenen jennrnder L HGwrss Crrésd

(A)
®)

of

D)

()

Best working environment to all the employees
SDasg caflursEsED Aphs LaElEGPO® UPRIGUSTESLD
A cleaner workspace

Grienwwimes LarfludlL rhiser

Conversion capabilities for meeting the organisation’s goals
and strategy

Boeuarsdlenr @eaod@ser whmb apCaruruseans yisd CFugsepsTer
IHMmID FmeraeT

Raw materials for a cheaper price
welleuren aflenaulileyr epeliClummLS6T

Answer not known
dfen Gz flweldeane
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83. The subgoals of the operations subsystem are
Gawueur’ @ giean Si@ilder g QosEsd :
(i) Product/Service characteristics
swriliiy/Geeneu LT ST
(i) Efficiency and cost control
Soer wHpbd Gewey sU_GrUTH
(iii) Customer service
aurlg &enawimer Gaeneu

(iv) Administration

flireur&id
(A) (iv) only (B) () and (iv) only
ya( (i), (ii) and (iii) only (D) (ii) and (iv) only

(E) Answer not known
efenL Gsflwefdene

84. Most suitable layout for Job production is
Gouanan 2 pusdse Wae b QUNmSSOIET SeTeUaLDLIL

(A) Line Layout (B) Matrix Layout
auffl SeTeuanioliLy Gl fgev gemeuenoliy
%’ Process Layout (D) Product Layout
QeEwdpenn SemeuenioliLy surfluy seTeuanioluy
(E) Answer not known

efenL Qsfweiidvena
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Variability arises in POM (Production and Operations Ma'nagement)
system due to

2 HusH wHpb Geweduri.fh GCuendgrenn awlibd WrMurG gouBeube
EMemrLDd
(A) Varying work efficiencies of workers
Qgmflemernisefiar wrmul L. Geuene Ameaar
(B) Variations in the functioning of the equipment
2 LsyarThigeflen ClFuduTIgd 2 6T WIHYUTHSET
(C) Variations in the market
shengudled 2 arem rmUImbHiEeT
M All of the above
CuGa 2_drer ienerdgib

(E) Answer not known
Qﬁlem_ GgMuwelildene

3PL stands for
3PL ererugy

~(A) Three Points Logistics

EpETN LiGTENSET SATCUTL BISET

M Third Party Logistics
EPGTDTD STLIL| SETEHTL MBIGET

(© Three Points Location
ppesTmy LjeartlaeT @)L (b

(D) None of the above ‘
Cuopenplueubidledyr ergie|dldaene

(E) Answer not known
ailenL Qgfweildency
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87. Work study is concerned with
Geuanay 16| eremug)
W Improving present method and finding standard time

sHGurewgw qpeperw CLbU@SSSD wHmbd Beowurar Crréamss
ST

(B) Motivation of workers
Qampleorerisaien 2 bhgis6

(C) Improving production capability
2 puss Hnoear CuobLBSSISD

(D) All of the above
Gupaadlu enansg)b

(E) Answer not known
cflenL. Ggfweilcency

-88. Make or'‘Buy decisions also referred to as
UTRIGSH Hdbag Cesrdarpsd apryeysedr _ erermib @MU Luhdng.
A Outsourcing decisions
2ieyl_Carréli (g6 &er
(B) Economic decisions
QurEBaTTSTY (PIg6ysHeT
(C) Tactical decisions
BBAT (plgeyser
(D) Pricing decisions
efleney HlTemm (pigeyser

(E) Answer not known
elleni_ QgMwefcrancy
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89. The process of grouping the tasks/elements is known as
Lietl&ar /2 nILYSmeT @ (peuns@G Gaudapenm

(A) Routing
PSS BISET (ehLIq i)
M Line balancing
aulfl soflevatiu@ssed (mewen Guaensib)
(C) Method study
oD ey
(D) Scheduling
Sl @ -
(E) Answer not known
- eflen @sflwelcvenaw
90. Services cannot be stored. This describes the- characteristic
of services.
Cemeusemer Gellss uung. @& GCemeuseter LIGRITL| S En e
eflaufl & mg.
(A) Intangibility
AR Lorreaf SETEDLD
@& Perishability
SiPlujib Gemanio
(C) Inseparability
WA&s Wuwng gerew
(D) Variability
LDrrg)jurrG
(E) Answer not known
eilen Qg flueidenc
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91. The following statements are true about the type of observations are
considered in the working sampling technique?

Yereumid snppisefich g o amenw erem s Hueyb. Ceuaver LIAM B LFHD
eThs euenswmean seuaflliLgser Cuharareriu@dermen.
(A) Continuous cbservations
Qarréflurer seueflLiLser
M Random observations
Erpm seuafligser
(C) Random observations and continuous observations
oo seuafluLser wHmb Asroréflurer seuafliysdr
D) Raﬂdom (or) continu(;us observations '
ErHp seuaflliyser (Sowg) QsToiFdluren seuafliiLser

(E) Answer not known
ellen WgMweildvene

92. Work Measurement techniques include all of the following except
Couenar tamail (i mIL UL ereLig Lemeuheuaeuhenn 2 eTarTL &g, < p,emmed

aérens seily
(A) Time study
Cpr =yiiay

(B) Work sampling
wrEfl Geusna

(C) Elemental data
BlgLUen L FTey

@ On the job training
Geuener LlhHuled

(E) Answer not known
sllenL: QgMlwaeildena
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93. The symbol V is used in Production Department for indicating
V aap @il@ 2husd geple aghars vwsatu(GssiuGang ?

(A) Recording M Holding
ufeflpars Fmissl eneussed

(C) Inspecting (D) Travelling
<16y Cupbsrerar Cursgeaursdnans

(E) Answer not known
eflenL Qgfwelldency

94. Match the following with the work study technique
Ylereumd Gouama ute] HILLSGEHL &1 — dumhSsa b

(a) Motion study 1. Find out one best way of doing the job
Quss e Gauenew Qaicugpster gm fnbs eudews
gL Mg
(b) Method study 2. -Eliminate unnecessary movements
(PEdD 1G] Caameuwpn QUESLEISDET BSHDISED
(¢) Time study 3. Determine the frequency of rest
intervals of workers
Cry <6y Qamfemearrsefian  quie @ GQeuellsafler
| s fiQeuamenarts Siwrafssed .
(d) Fatigue study 4. Determine the standard time taken to
perform a job
Canirey 18] @ Ceuenaerwsd Qi erGé@d Hlanawime
. Crrsemgs Sioraflssd

@& ® @© @
A) 2 1 3
B 1 2 3
© 2 3 1
@ 2 1 4

“(E) Answer not known
allenL Qzflweilcdrensy

O =
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95. MTM is a work measurement technique by
wopsar Gur iereil eratug @ Came emall B [l LDMELD
(A) Stopwatch study
Bmss samsreniiliy wpem
M Pre determined motion time systems
apenenGy Siwraflssiul L @Quéss Cory SIMDLULSET
(C) Past data comparison
_ &LBS &rad 576y QUG
(D) Work sampling study
Garene ISR ey -

(E) Answer not known
cllen Qzflweidrena

96. The'kind of strétegic focus put ina company’s processes in TQM?
| aps eueswtear spdr seaid @ Hneuasdar Gurss s7 Guerdrmwoudc

QegussuLBAD ?
@6  Continual Improvement

QgrLir aperGarhmd
(B) Passive Improvement

Qewewpn wearCarhmid
(C) Unsteady Improvement

Beoowpp werGarhpib
(D) Steady Improvement

- Hlepewren (perCarhmibd

(E) Answer not known
aflen Qzfwelecrenen
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97.

Choose the wrong answer from the following statements
Qemeupld sifsmasalladlmbg sauprar uflaws CarpOsBssab.

(A)

(B)

©

(E)

Quality management principle on the basis of which
ISO 9000:2015 and ISO 9001:2015 are based on leadership.

ISO 9000:2015 wppw ISO 9001:2015 dwema gmmmmggmgmg

SglueLwunss Gasrar gy Goaramanns Gamarans.

Quality management principle on the basis of which
ISO 9000:2015 and ISO 9001:2015are based on customer
focus.

ISO  9000:2015 wpgw ISO  9001:2015 spbuee
amgSesunarisgeiien  soauerdseng Dgluelwrss Csme | g7y
Cuanrarenns Qardarans.

Quality management principle on the basis of which
IS0 9000:2015 and ISO 9001:2015 are based on evidence based
decision making.

ISO 9000:2015 wpmuws ISO 9001: 2015 %@LUGUI_D)]‘)]@T Sig Ul e

g7 Guaranenns Cerdiens wsMr Sigliuscufeorar (iybeBruess
SlgUuLwnss Casmerg).

Quality management principle on the basis of which
ISO 9000:2015 and ISO 9001:2015are based on customer
dissatisfaction. : :

ISO 9000:2015 wpmw ISO 9001:2015 eyflwemer eumgsemswimeri

2 mudeow gliueLunss Garar. gy GCoararamns Qerarans.

Answer not known
clenL GgsRwaldene
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98. Kaizen concerns about
Qailge ssamnEET

(A) Break throughs
peTGCaThmaGeT

M Continuous improvement
GarLrsflurer (erGarnpid

(C) Fixed cost of quality
srsdle Hleawimen GFawey

(D) Varniable cost attributable to human resource
wafls cueTgdHbE ghuiin wrP Csaway

(E) Answer not known
allenL Qzflueldene

99, - data are continuous in nature and are measurable on
a sliding scale.

srey QarLisfluner gemenn GamaRrg WwWHDIb @ eI R

Slemailed iemell&aniqLig).

(A) Fixed & Variable
Hleneowimer ' wrmu@ b

(C) Attribute (D) Discrete
L saflggenento

(E) Answer not known
eflenL Qzflweidrena
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100. ISO 14000 standards are for the

101.

geTeivg 14000 Frblencaar

(A) Quality Management System
&7 Caramem el 1peD

(B) Administration
Flieumrasid

(C) Supply Chain
ARCLTES Frdlell

ﬂr Environmental Management System
&FHOIFSGPD CLOOTETMW BIEDLIL

(E) Answer not known
cflenL Qsflueiicrena

Havethrone studies is related to which stage of the organisational
behaviour evolution. ’ ) ’

Boeuer pLSeng umewmo  euertdfuller ahg sl ggiLer  anmeuCgmie
Qe 56T AsrLiyeLwg)

(A) Industrial revolution (B) Scientific management
Qzmleogiean yrléd SiPleflwe GueraEsmao

(C) Organisational behaviour M Human relation movement
Fpeuer BLsas wafls 2 neyser Gussd

(E) Answer not known
- elenL GsMlwefcdana
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102. MESO organisational behaviour is related with
MESO fipeuar pLgems agay e QgriiyenLiwg?

(A) Individual behaviour W Group behaviour
safluails pLjams G P

(C) Organisational behaviour (D) None of these
fimeier BLias @eneu ergia|b @

(E) Answer not khown
eflenL QAgflwelldena

103. In percent context challenges for organisational behaviour are
sHCungeter Hlavawuilehr HliTeurs HLSMBEETAT FEUTDSHET

(A) Employee expectation (B) Work free diversity
Qgmfleomenit erdlimiiiy uesflumert 2 ey &6 Lreue
(C) Globalization . g All of the above
D QHOWILDTESED Gogyédrer enanggib

(E) Answer not known
elitenL GgMuwiaiicrene
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104. Unemployment can be described as
Cauanaulatanwen @eueurn efleufasEamd

(A)

o

(€)

D)

E)

The number of people who voluntarily choose not to work.
Gouaner Gewiw GeuarTLmbd erermpy sramms peveunhg GaibOsHEE@wn
BUTsaTe oTamentSens.

The number of people who are tables and are actively seeking
work.

Coumalaimn wipn wCorsma & Couma Gz  aseflen
TRt SN,

The number of people who are not actually seeking work.
2 aneoulldr Gauamar GaLgeuisaflan eramrenilsans.

The number of people who are not actively seeking work who
field work.

eamewuier Geuemer GsLng wasar whHpw CoumeGu GCsl
Qaflurgeufraar.

Answer not known’
eflen Agflweidana
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105. The field organisational behaviour is primarily concerned with
Bnieuar BL s SIenHINeng) (PSerenouins a6 Qsm e wg)

(A) The behaviour of individual and groups.
safipuigsafiar whmb Gupssafles pLs®s

(B) How resources are effectively managed.
euarhiger ereuaumm BlicudlssiuBdemmer

(C) Control process and interactions between organisations

external context.
sLpuur®  Gewdapepsdr womb  HlneueTkisEsdanudeTen
Qaruiysear Qeuafluiym @

¢ Both (A) and (O)
(A) wpgid (C) Grem@od

(E) Answer not known
eflew Qgfueideane

106. is the extent to which an employee’s voluntary
behaviour contributes to organisational success.

aetug e eampluisellen gGemenmicu LS Hmeue
QeupPléE Ltsalid@d WEHu SIRSLTEGD.

(A) Organisational culture

Flpieuer sersemyb

(B) Organisational conflict
Bmieuar Guomge

% Organisational citizenship behaviour
Boeuar Ggufleon pLsos

(D) Organisational change
Blmieuer wrHHLD

(E) Answer not known
ellen G!‘g)rﬂu_laﬁld)lma)
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107. List the factors in planned change
Sl uuce wrhpsder srpefismer Ligw@es.

1.  Technology

Qzmled Il b
2.  Structure
SLL UL
3. Task
Lewtl
4.  People
OGS ET
A 1,2,3 B) 1,3,4
W 1,234 D) 1,2, 4

(E) Answer not known
eSlen Qaflwueiidana
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108. Select the correct order of the stages of team development.
& euamEfl Hlavawsefar sflurer el amws CorbOsHEEab.
1. Norming, Storming, Forming, Performing, Adjourning
QpdlwbrEsd, WWhHpms, 2 (Heungd, alms, asflameussed
2.  Storming, Performing, Norming, Forming, Adjourning
wHnes, Aaliens, QBEHILWILIESD, 2.(HeUMTSH, REHMeUSSH
3.  Forming, Storming, Norming, Performing, Adjourning
2 (HEUTSHED, (PHDmIens, Apdlwwrésd, Aeims, eiflaassed
4,  Performing, Adjourning, Forming, Storming, Norr.ning
Qeiins, péfloeassd, 2 (heunsd, whHnms, ApHlownrésd
A 1 (B) 2
@ s (D) 4
‘(E) Answer not known :
aflen Qgfwellcvancy

109. Which one of the following factors is not associated with intergroup
conflict? _ _ ‘
Geareumy  smyesflsefied  gam  Gussersde Guurer  GurseiLen
QAsTUfLenL g Side?

(A) Incompatible Goals (B) Resource Sharing
QensswhD @& GHS6T : euerls Ldliey
(C) Absorption of Uncertainity M Vertical Relationship

Béswndn serennenw 2 MHlighesa QFriiGsg 2 ey

(E) Answer not known
aflen Qgfwesicena
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110. Which one of the following is not a description of organizational

111.

112.

culture?
Qeireumeuaneupmer o1z Himeuan swrésmrseans caufuufome?

(A) Outcome orientation (B) People orientation
cflenarey 2HHILEOSSISD L&&ET ZHOOILLBSSISD

(C) Team orientation ‘8{ Environment orientation
&W@ BPHLLGSHISD - EHDEGPD AODILGSSSD

(E) Answer not known
eflenL Qg flweidena

Nowadays a lot of stress being put on the - of the
employee in the organisation
@uGur@sderd, fpeauasdd vafiyflynd samfurssr g
<ifls sssb QarhisstiLBEDs.
" (A) -Character : - (B)- Improvement

SEMEDLD apenGemphmpid
% Behawviour (D) Rewards

BLENS Geu@odlser

(E) Answer not known
den Qsflweldena

Responsibility advancement etc are an example of
Qurmiiy aerGarhmid CureTpena erEe 2 FTTanTLd ?

(A) Motivators (B) Hygiene factors
o _h&iFHe FETFNY &HTyewtlsHer

(C) Improvement factors M “Advance factors
penGarpm sryerflser penCanhp sryenilser Lmreaney

(E) Answer not known
eflent Qzflwuefdanc
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113. From the below which is not a outcome from person having a good
personality? .
ECip 2 drereupMied @(BHS G Fvew p@haw QAararL pufer allemare) e ?

(A) good performer (B) good team player
KBeva Qe mesr B el et
(C) lead a team well QB)' make profit
R sieflenw eufl BLSgIF® QUL UMTéS

(E) Answer not known
eflenL GgMwshldvenaw

114. Who was the first pérson to focus on and assist the needs of human
employees?
paereusns wealgisatean Cameusmer seuarshler Clsmanmd LiewtUTeTiaEhsE

2 el Qewigeu wmi?
-(A) J.N.TATA
J.N. Lmer
(B) ROBERT OWEN

TIUML €GU6H
(¢f ANDREW URE
e 21l

(D) None of the above
Cupamflwephler ergiayb @doeane

(E) Answer not known
clenL Gsflwueidana
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115.

116.

Which of the following theories provides on idea about what
employees need, and what are the crucial factors the manager can
used the motivation the employees?

Gemeumd Gem_ur@sald g smfuis@Epse edarer Gaael eerugl UHbHIw
e Cursmerau aph@dng wpmb Guoarart smfluisamer sa&@elss
LUSTUDSS GG PSELIDTRT STTallEET Wreney ?

(;tf Content theory (B) Process theory
o dreT_&s Garlumr( - Qewayens Gamun@
(C) Maslous theory (D) Herzberg’s theory
e Gemeflesr CamLimm QanrQuitd Gesm_ur®

(E) Answer not known
allenL Qgflweldensy °

Refers to the interaction of forces between group members
in a social situation. 7 , |

saps Gphlenaudie @y 2 pularserss Qe Worer ssdlaefler
Qzr_irysener @Hléslng. o S

(A) Social group [3)’ Group Dynamics
FP&S (F(LP &P Busseiluie

(C) Task groups _ (D) Group Development
vl G psser G Alemss

(E) Answer not known
aflen Qghlwelldana
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117. In five-stage model of group development which one of the following
stage is not relevant?
G euertéfluder mbs  Hloew wrHdAlad, daamn Heowseld g

GUTBEsLH0g) 2

6 Initiating (B) Storming
HIOUSHEGSD wHmesudi niul L ar

(C) Performing (D) Adjourning
Qeains pédeal

(E) Answer not known
dflenL Ggflwaeldenc

118. Dysergy in group working emerges in the following situations:
GpUuuailulld Qawepliy Semeumbd & phlaaseaia CeusiuLhdpg:
(1) Lack of complementary skills of group members
& epulafler Glyiy Hoaseien Lppr&EGmD
(2) Lack of clarity about group goals
& BasEsdr uphu Ageaflefeneann
(3) Lack of mutual trust and respect
ugebuy pbidsens wnnib wiurms Gedamenn

(4) Conflict among group members.
G epulbartsaflan Cu CGursd

(A) only (1) and (2) (B) only (2) and (4)

(1) wppid (2) P (2) wpgid (4) L b
(C) only (2) and (3) | 1), 0),3), @

(2) wppid (3) P @), (2), (3), (4

- (E) Answer not known
eflenL Qsflweldiena
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119. The group leaders devise certain actions for the adherence of group
norms: select whichever is applicable:

120.

g,smumr‘r&;eh

GIC

G  fgpapseer

Sev

e Nigliugherer

BLOUGEMEFMET aUGSEDTIGeT - eneuenw Ggiey Waliweyib.

(1) Education

&evefl
(2) Surveillance

- samamantiiy

(3) Warning

eréaflsans
(4) Sanctions

SHUL L6l &an&&6T

@ @, 2,3

G 2,3),®

(E) Answer not known
. eflen Qgflwaiicvena

®) (1), @), (@)

#0203,

Select which is not related to group formation theories
&P 2 mansss Car.urps@ssn Qgriimfaongeuneans CaibdsHisseib.

(A) Balance Theory
soaflened GCamum
Socialise Theory
sepswwrssd Garurh

‘ (E) Answer not known

eflenL Qgflweiidvena

67

(B) Exchange Theory
uflordms Camur@

(D) Propinquity Theory
Sm&ETaw Carump
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121. SMM stands for
Qs gi sgrduler , SMM erenug
(A) Social Marketing Management
geps FHansLILIRSSHD Gamarenln
(B) Social Management Marketing
geps Gererenld FhansLlLbdse
W Social Media Marketing |
Fops o & FHasIUHSHD

(D) Social Media Manipulation
: FUPEG 261 & GHEUIT(ERHSE

(E) Answer not known
cllenL Qzflueiicrenc

122. Which of the following is not a risk in internet based transactions?
Yerrau(peuaneubibled  eths  @lavamTiy éuq.uuemz_uﬂsurrarr ufleurssenanaatiey

SLIST @leveney ?

(A) Earns dropping (B) Spoofing
QUHLITRTD GDnSDng) JLTHmIL ur;ruqena;

M Encryption (D) Unauthorised Action
WHDWITEELD SSsRGSLLLTS HLGUgEH®S

(E) Answer not known
eflen” Qgflwaidency
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123. Which is not one of the key performance indicators (KPI's) that
reflect effectiveness of your events?

oz e msam fspaysallar Qswaddpoet (KPI) Qrfudsgn  @édw
Qewdodner @Ghlar_ ysefld gerpdade ?

(A) Registrations
udlayser

(B) Social Media Engagerhent

gops 2arLs FRur(
(C) Lead Acquisition and customer conversion
(peenent] MsLILHSSHSD DHYID QUM SMSWITeTT WTHHIGH

% Decreased brand awareness
GODHS DmLwrer Mt jenTiay

(E) Answer not known
e Qzflwslldbana
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124. The president of national consumer disputes redressal commission

1s appointed by

Cadlw msiCeuni saqry Sid@h oLmamd@Gpeilen Smeaeur

e BubisslumhSpm.

(A) Commissioner of Consumer Rights
misTGeume gﬂmmam <2, ERTUIT

(B) Commissioner of Human Rights

wellg 2 flenaeT oy enarTir

y?{ Central Government
osdu Bws
(D) State Government
mble e
" (E) Answer not known

alen Ggflweidana
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125.

126.

127.

Tele marketing is a part of
Agrena@srLiiL sbanglILBSS5H Bs6r @ LUGHWUTE 2 dTars.

m Direct marketing (B) Social marketing
Cprigd FhanslILHSSH FeP&5E FHanslILIHSSO

(C) Viral marketing (D) None of the above
eflerrfliiLigeyd FhansILBHSSH Cupamdueupdler ergiedldeaney

(E) Answer not.known
dilent Qsflweldena

What is MRP?
arib.gyir.19 (MRP) erampred ereman
(A) Manufacturer Retail Price (B) Moderate Retail Price

o pugdlurert Hoevan ellene Wgwrer Howery ellena
M Maximum Retail Price _ (D) Minimum Retail Price
Hasuls foawmp clanea G@DHSULE Hoevenn ellane

(E) Answer not known
eflenL Qgflweildens

Which one of the following products is not covered by Agricultural
Act 19377

Qereupid gumfliysefld erg efleusmwus sl Lib 1937-6 Sip aupehledene ?

(A) Tobacco. : (B) Spices .
Lensuleney QUITEFMEITL) LIGRTL LD
(C) Food grain Meat
2 w6y Sresiluimisen _ Genp&d

(E) Answer not known
ellan QgRwaidena
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128. The member of consumer disputes district forum can serve upto the

age of years.

wreuL H&TGeurt gagmm Siey wetngdler o milnSeri
uestlwmhmeomb

(A) 60

(C) 62

(E) Answer not known
eftenL Qgflweldans

UG GUenT

@ 65

(D) 70

129. In which year weights and measures act have been enacted?
THS BeT(h eTen WHMIL HeTeIHiSET FLL1b @uihHmiiit L g ?

(A) 1980
(C) 1988

(E) Answer not known
lenL Qgfweiianc

@ 1976

(D) 1982

130. The state consumers disputes redressal commission consist of

members
wrfe pefCart @op SisGh e
Qanam_g
(4 6
€ 5°

(E) Answer not known
cflenL Qgflweicrana
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131. Which set represents the 4C’s of marketing mix?
shegliupsgsdar saameauiar 4C samar abs GsrEuy GHsSng
M Customer solution, Cost, Convenience, Communication
eumgsenawinert ey, Qewe], eued, Agmiy
(B) Customer, Cost, Convenience, Comfort,
aumg Sepswnert, Cewe, eusd, &b
(C) Convenience, Communication, Covarage, Cost
au&dl, sseubsrLiy, ungsmiy, QFwey
(D) | Cost, Covarage,'Communication, ‘Consultancy
Qeaa], LUNGENIL, SHUOEASTLIL, i Careamer

(E) Answer not known
eflen Gz fMwelwena

132: Which of the following is a key to build lasting relationship with
consumer?
Yereupeuanaupiled erg eumgsamswnearflLb Gewr 2 pavey CbLHSSID ?
(A) Price of the product
Qummafien alleney
(B) Need recognifion
¢°>|r$1é§]5rﬂu|_;
M Customer satisfaction
Gurrlq_ém;a;u_:rrmr'r L
(D) Quality of the product
Qurpefien gy

(E) Answer not known
eflen Qgflwaeiicdansy
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133. Choose one brand equity model in following models given
Qerpssuiul L wiffiselld eusdseflar aigss @OURH swoflowau Csie

Gleliweyd
W Customer loyalty (B) Brand power
GUTY SENEHWIMEITIT BLDLIGESHENEn LD cuanflss@Mulden g5l
(C) Brand reach (D) Brand image
auafads@Bludan by cuamflas@Muder S48

(E) Answer not known
cllent Ggflwellcvane

134. The typical method of retail operation used by super marketers and
catalog showrooms is called

fptiy  otigryg wHmid  Csters Capr@pd wweuRSHbL  ehuener
CEwIDUMT g 6T GUPEHIDTET (LPEDD 666 ?
w - Self service retailing .
& Geaneu Fldewenn eflhHuianer
(B) Limited service retailing
awarumssiul L. Geaner fowen etbhueer
(C) Full service retailing _
W Geeneu Hvaweny eflHLener
(D) Service merchandiser

Gaeneu elwmumh

(E) Answer not known
allenL Ggfwellebena
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135. In India choose the brand that came from foreign with all the
features and it won’t get any responds from the consumers?
@ Qeualpm @ euissagdui@ Hneend @pdureldr gemg CQummenen
Qeuellldpis Curg @igear Bg eumgsasunemmsE sEhs wurGaupl @daa
Sibs QUT(HET erabra 2

(A) Suzuki Alto (B) Volksswagan’s Beetle
Fad) oL seGaumavatrsar 19 1gd
(C) BMW 320D ‘ M Suzuki’s kizashi

BMW 320 D : &ad SHemad)

(E) Answer not known
ellen_ GWgflweldene

136. The history of marketing when did the production process end
ghensufwd augerpdled 2 HusH ariCurg aps srasl L Hd HnssriulLg)

(A) Inthelate 1900 s

1900 satled

(B) Intheearly 1900s
1900 (e

(C) Inthe1920s
1920 safled

M After the end of second world war
@rarrLmbd 2 easuGunilen Gps

(E) Answer not known
ailenL Qzflwueidene
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137. Which of the following is not an exchange function of marketing?
Spser_euhmer gl shansuilwid wrhm euflapen Geane ?

(A) Product planning and development
Qumrmar euficpenn perGambmid
(B) Buying function
eumai@b Hlasipey
M After sales and service
ipuenarée 0@ 2 erer Cranau
(D) Selling function
elipuaner flape

(E) Answer not known
aflen Qg flweildane

138. The marketing mix suggested by
FHensd swenal wnyrd ufpgenrssiiuLg ?

% Philip kotler (B) Neil boarder
Qe CGam_evir Qpwie GumrLi

(C) Peter ducker ‘ (D) Neil Armstrong
SO LT L& Bé gy bevlymm

(E) Answer not known
cllenL Gz flueldena
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139. The plan that includes objectives policy procedure and rules are
called?

&N&Carer Qaratens peoLpenp wHmw &Hd wduepen o dersdw
Slib Aemeuomm sewpsstudng

140.

(&)
(B)
7.8
(D)

(E)

Budget of marketing

rir&lei g L_Qegu

All the options are correct

Dienandg edl(mHLILIkIgERLD sflurareaCu
Prograinme _ |

Sl b

Strategy

0 45

Answer not known

allenL Qgfwueiiceney

The term marketing mix refers to
ehangs swaneu GaTal(meuateupmieT GHl&Hng

(A)

(B)

©)

)

An analysis of the micro and macro environment of the
organisation

Bmeuangdlen enwsCrm whHmib (SLDa;CSUﬁ @Gedle LGULIMIGY
A mixture of various decision to sell more products at any cost

<fs suriiuyseer abg laaseflgd oips vbGam Wigeysafler
HOME

Customer relationship for longterm profit and gain
BeL &me @rub WwHpb a)rrug,@rrl)asncm mnqasemasurrmrr 2 mey

The combinations of strategic elements to satisfy of market
needs

shang Csaeuseer LTSS Q&u_;a_lg_,ﬂ)aarrar @Gwrrurru_l o) Shit] 6T
SOMEIWTGHD -

Answer not known
eflenL Qgilweidens
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141. Determining manpower needs of an organisation comes under
ow Hpaesdar  wallgeuer  Gsoeusmer  fliamigssd  ererug
Speupeuaeupiled erg?

(A) Organising

RPBEMDSFHD
LB‘ Planning

S f @
(C) Controlling

S (B

(D) Performance Appraisal
Qewddmer wdiSE

(E) Answer not known
clen QgRweilcreney

142. Implementing welfare schemes for employee is of
sar fluIT&@Eh&ETeT Bl Liismer bl pepliLifisgieig
m Integration function
idlenauriin] Qewdum)
(B) Human resource development function
weflgeuer Guibum (G Qewdur®
(C) Procurement function
" Qardrapsd QFwdur@
(D) Compensation function
@uusk Qewour@

(E) Answer not known
aflenL Qaflweildwena
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143. Knowledge based organisation witness HR structures as
Siflener BigiumLWLTES: QararL weallgeler ey

144.

(&)
&
(©)

(D)

(E)

Sophisticated

Sigipelon

Highly sophisticated
Waa|b <iflHedar

Less sophisticated
Gevpeune fpelier
Very low sophisticated
Basajbd Gopss i peien

Answer not known
aflenL Gzflweidena

Process of estimating the future manpower requirements of the

organisation
Bneuangden ardirsre walgear Caameuseaner wAUGRugHarear dewdapenn

]

(B

©

(D)

(E)

Human resource planning

walgseuar 18
Recruitment

<L Gairliy
Selection

Gairay

Placement
Geuanereumiiiy

Answer not known
aflenL Qgflweilcrency
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145. The HR department is accurately defined as
wellgeueatggienn gealluwns cuamupdEsiul [pererg|

(M Service Department (B) Functional Department
Ceanauly Gifley Qeweur’ Hiur Gfley

(C) Line Department (D) Authority Department
cufly 19fley Sdsrrd Gifley

(E) Answer not known
slerL. Ggflweicena

~146. What role does effective communication play in the success of HR

Managers?
weflgeuer Guearerfler QeaupBlulled LwayeTer FaHeud QETLTL eremar LkiE,
cudl&dlmg) 2
(A) Minimal role (B) No role
' GODHSULE LkIE . Lk, @dana
@ Important role (D) Marginal role
@Wp&EW Ui, @URIGLL UL L Uk,

(E) Answer not known
eflen Qg fluwieiidena

147. Which of the following is not a desirable quality of a HR Manager?
Demeugpeuameup et org (h wallgeuer Cuorearmed Comeutil g $&S

(A) Empathy & rigidity
UEFTSSTULD o miFwhn semenwo

(C) Communication Skills (D) Technical Quality
Qmf Smeir Qgsmerm U b

(E) Answer not known
eflent Qzflwelcdens
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148. Why are strong decision making skills important for HR Managers?

WweallHeuer GLeNETTS EhdE@E, 6T GuaeTaT

(A) Not important

WpsEubHDg)

(C) To avoid making decisions
WPl eysmer THUUMSS ellTULIg
(E) Answer not known

aflen Qgflwelcrensd

PLauBsEn Spdr ps&wb?

(B) Conflicts of interest
paeansafler Gorgedser

m To resolve issues effectively

Qrssemansanar SpbuL. Siliug

149. Allowances and bonus of the employees are discussed in

150.

policy.

eanfuiisefien  Qarhuuareysdtr  wopmb  Guretedd  ySlweneu

Qasrateswld alardssiiuipdemnar.

(A) Payment
Qerpsso
M Compensation
Gpuse

Answer not known
efen Qgflwelene

(E)

(B) Revenue

eu(heyml

(D) Employee engagement
sarflwir FEUTE

Compensation Policy doesn’t include

@uulr. (s Asrarenssatic @dld o ms

(A) Gratuity
uentlsCsrenL

(C) Provident Fund
Qu(BEISTE aelliL Bl

(E) Answer not known

elenL Qgflweidena

81

g eIl ?

@f Awards

el FHer
(D) Bonus

Cumesieh
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151. Which of the following are the suitable talent retention techniques
for IT Companies in the present day?

Gereumauaapheo  sherasdd IT  dApeuamseEsse Curmsswrer
Sperwerwd S&E@EUEGID i URIGET

1.  360° appraisal

360° 0AOSE
2. - ESOP
ESOP
3. Intrapreneurship
&G'IT-@UJD@

4, Flexible work environment
Qpélpeurer Liawtl&@pe

(A) 1,3,4only B) 2, 3, 4only
' 1, 3,4 b pGw | 02,3, 40 (G |
@ 1,234 (D) 3 and 4 only
1,2,3,4 3 wHpb 4 LCHG

(E) Answer not known
@S]Qm_ Qzfueldanda A
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162. ——————— can be defined as a written record of the duties,
responsibilities and conditions of a job.
aerug @@ Geueanler sLemwsedr, QuUIULSET  LHOmIb
Bupsearseafler erpsgliyie ufe| erar WSS ILIL QTLD.

1.  Job description
Geuana effleufitiy

2.  Job specification
Geuanew @My efeund -

3. Job profile

Geueney s alleurld

4. Job analysis
Geuene L@gLILIMIGY

A) 4 (B) 3

w1 - D)2

(E) Answer not known
aen. AsfMwefdena
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153. Competitive edge comes from ————— of the employees.

GuriigsHmer eramuig) sarfuiisatien —— eNmHg euHEDS.
1. Competency
Speno
2. Efforts
pubHfser
3. Quality
S

4.  Hard work

&g, 2 GDLPLILY ) ;
W 3 (B) 4
© 1 (D) 2

(E) Answer not known
" eflent- Ggflwelldwame

154, ——————— is not a retrenchment strategy for a business
organisation.
—— @@ awfls fpeamsdbarar ' GEOIL 2 58 Sdw.
(A) Turn around (B) Disinvestment
wm&yenLoriy psdHisEemer engedlHSH
(C) Liquidation (¢ Diversification
SEELIL UeTAp&EUU(HSSI S0

(E) Answer not known
eflenL @gflwelcrene
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155. What does Unitarism as a human resource management approach
assume?
wafigeuer Gueararenin siemiGupapuns el Neb eaaer swmadng ?

1.  People are individuals and should be treated as such
ID&SET SEflELTEET OHMID SeuTseT eueurn smsuUL Geuam{Hib
2. People are individuals but should be part of a group
W&SET SEpUTEEr WHMID @ Guelldar uGSurs @més Gauar@n

3.  People in the organisation share the same aims and objectives
flpeuansdlad o drer wEsET @Gy Chrashsmeanyd GNECaTarGmaenud
udlihg Garerdlpriser

4.  People'in the organisation engage in internal competition -

Bineuangdled 2 arereuiiger o er Cumiguid rHUGHDTTHeT
4) 2 B) 1

@ 3 o D) 4

(E) Answer not known
aflenL Qgflweildena

156. When supervisors use only recent performance information to

' evaluate subordinates, this is termed as: ' '
Gupurimewreatisger geoan ofarismer wHubbeausheg sbusdu
Qeuadlper  ssauemd  LLEGL uwau@sHermd, @&  Geueurm

SdP&sLuURA DS

(A) ~ Severity error QKY Recency error
Sallysseamerw Genwp slusSH WL 1Nenp

(C) Leniency error (D) Central tendency error
STFIETLWILNGS® Henip aw) Gurs@ELr e

(E) Answer not known
efen GzMweidenan
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157. Which of the following is not a way of validating a selection test
while recruiting employees?
veflwmariganer < Geriy  Gewyd  Cungy GCsiey guienes aflunids
Qemeumd euflsaniey erg @) eenen ?

(A) Concurrent validity (B) Predictive validity
epsHewpg QsoadH wersailiyg Qe[
(C) Synthetic validity & Face validity
- Qewpenss Qeded(H wpaliyF QFweaH

(E) Answer not known ,
clenL Qzflwaldena

158. Which of the following is not an activity of a successful recruitment
team?
dereumpeueneupmier ety QaupBlsyorer U Ceriiys @Geler  m
QewumLée ? .

(y Use job postings to live skills
Spewnamear g Coiiy  Qeaww  Cauemeoamivy  dlelllysmert
LWETUI(H &G RIS ET

(B) Use employee referrals
seflursefienr Lflpgiamrament LweaTLRSSIMEET

(C) Maintain database of all services
Sansg elamariuriseailer srays sardens LrTLAESEa D

(D) Try to fill vacancy by retraining space resource
gleop alaThsar wHLWHE QFueiger apad srewrs o e PLims
Bty wpwuphd Qediymiger

(E) Answer not known
afen Qsfwaiidene
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159. Arrange the typical consequences of Realistic job previews in
top-down order :

wpheosw wgrissworar Ceaamoudear Quirgerer alameareysmer Gud - &
auflenguley ghurh Gealweyb :

1.

(A)

(E)

Set job expectations realistically
Ceauaned THTLNTLULIEET WSTISSOTE SHeNDEEE LD

Job may or may not be attractive depending on individual
needs ' ' |
Ceuamed Guemeri gefluiul. Caameuseaar Qurmss seursflarorarsrs

‘@ mEaTg

Some accept, some reject job offer

foir Caume aumiitieou gps wosHprise

Work experience confirms expectations

verfl sigguebd erdliumiiysaer 2 pduu@SsSHngl

Higher job survival, satisfaction, na thoughts of quitting
2185 Caume Vel Amid dlagh erereand Gdana
1,4,2,8,5 (B) 4,1,2,3,5
1,2,3,4,5 D) 2,1,4,3,5

Answer not known
ellenL QzRwelldwene
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160. Which of the following is not a Learning and Development future
challenge for a HR department?
Gereupeuateupdedr et HR giopsarer spped wpmd Cooum @ eafisre
D@D Bee0 ?

(A)

(B)

©)

o

(E)

To support the emergence of intellectual capital
@ifleysri ppegansdar Camdnsams sfés Ceuampin
To continue enhancing the contribution of learning and
development division '

- sppe  wHpd - CGooburc@  AGfeflldr  unseflleug  GgTLipg

CubuBsgsd

To ensure the learning and development practltloner is a
business partner’

sHoed wHpd Coburt @ Lipfluret wamlls uksraflurs Gmuuams
o mid Gediw

To promote classroom based training to improve performance

Qewe SHpewar CwbUBSS m@uumm aquuam_uﬁla)rraﬂ vl pélepw
o @6l &5

Answer not known
aflenL Qgfweidana

161. The relationship between the maturity of debt and its cost is called.
SL_afle Qpﬁ,]rrmas@m g bewaseb Gerterar 2 pey ———— e
Sie&sULIHEng).

¥

(B)
©
(D)

(E)

Term structure of interest rates
ail g eddlFmiaetlen s enwLiy
Average rate of interest

gymafl eul iy efdlgn

Interest rate of interest

2 &7 eullly efdlFD
Investment interest rates
PSS B ey g

Answer not known
clenL Qgfwueldane
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162.

163.

From the following choose the correct formula for Required Rate of
Return (RRR)
Wemeumeuanaupilellphg  Caemeuwrar  eugporer  flssdbarer  sflunar
G&sdrses Coipdshsseyd
(A) RRR = Risk Premium + Time Value of Money
RRR = gugg GAbwub + uewsder sre wdiy
(B) RRR = Internal rate + Risk-Free rate
‘RRR = a1 aflflgid + opuss @dwng HNdsn
M RRR = Risk-Free rate + Risk premum
RRR = o usgs @eowng Afsn + gugs GMSwuib
(D) RRR = Risk-Free rate + Internal rate .
RRR = g uss @owns cllfsn + 261 effzsn

(E) Answer not known
eflen g flweicrency

1s a fund which is created out of fixed payments each
period to accumulate to a future sum after a specified period.

aearug @@ GOHUALL  srasdbEd  Gng adisre
Osrenss@s &NES ceuGleum(m ST L SH@ib Hleneowimen
QarhuuereysalldBhg 2 (haurdatulL g BHumgib.

(A) Mutual fund (B) Discount fund
uyeuy Bl seTEsLg. BIF

(C) Corpus fund M Sinking fund
HEw apagend PRGDL B

(E) Answer not known
cflenL Qgflwaellcrene
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164. The short-term financing period is
Gndu srow HHueflinGeér sre eupby eremer?

(A) 1to2years
1 s 2 auprib
M <1 year
1 aumLb g —1 auBGLSSESEGD S
(C) 1to3years |
' 1 s 3 auLid
(D) 1 to5years
" 1 apsd 5 eumLID

(E) Answer not known
alenL Qgflweldana

165. The total shareholder’s equity (or) share capital is called
Qurss ukigsnyisallar Qarbs APOSRTD BIO0G UMIE pPLSETD
oTeiml <SieP&ESLILHS DS

m Net worth (B) Working capital
| Hlar whiiy | | BLUY 50 |
(C) Current Assets (D) Permanent capital
BLULE Qensg) BIBsT fpagesid

(E) Answer not known
ellenL. Qgflwellcrena
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166. What are the two components of issue price?
QeuellSL (B elemauden @ e Samse W ?

167.

(A)
(B)

o

(D)

(E)

Market value and share premium
gbeng LI wHmb LkiE WRBwub

Fixed value and share capital
Hleneowimer W&l HMID LikIE LpaSETD
Par value and share premium

#w wdiiy whmb ukig @b
Floating value and income

Hlsé@b wdiy whpnd eu@hLLTamD

Answer not known
eflenL Qg Mwaiidana

The value of a firm’s shares (equity), is the discounted value of
shareholder’s earnings called ' '

@ bBpaagder ungseflar wHAD GEbs  seTEpuy  Gedodul L

urigsnriseflen aimporarsder wdhi

(A)
(C)

(E)

Total income (B) Gross income
Qrés eu(HLLTETLD

Average income M Net income
Fqref euU(HLOTETLD F&r sugpwmed

Answer not known
edanL Gz fweiicvene

Qgm@ Gu(HLTSTLD

GTETN HMLPSSLILIEID.
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168. From the following which one is not a source of long term financing?
Qetral(meuaTeuHmIeT eTg Berr s Bl ETrons @i ?

(A) Debentures (B) Preference share capital
e LSSl TriseT ety flend LRkiE epLGETLD

% Commercial paper (D) Ordinary share capital
suanflall LGHTLD FTGMTET LIGIE PROSETLD

(E) Answer not known
dlenL. Qzflueidaeana
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169. Choose the right matches among objectives of Financial

Management :

Bé  ficunsgder  Crréshsepsde e  sflurer  Qurpsshsmeas |

Caiib0sHasab :

(1) Profit maximization

@eooru HfalLy

(i1) Evaluation of finance

Performance

fé Qawedper wHUIGEH

(iii) Financial Negotiation’

fS Gusseurigsens

(iv) Wealth Maximisation
Qadeu Fafiiy

(A) (1) and (iv) are correct
(1) wpmb (1v) eMwrereeu

(C) (1) and (1i1) are correct:
(1) wpmw (111) sNwura@e

(E) Answer not known
allen QgRweldana

93

It fails to take into account the
social responsibilities to various
group of people

ueGeum Gpasetlen  Fepass
Qummiysener  samsdd  ThHSHE
QareTers geupladL g

This incomes analysis of major
trends in the stock market

@ umgs apmsllar E&Slu
Gums@sener UGLUTWE CFleiens
o dremL &g

It i1s for outside financing often
required specialized skills

Qg  Geelluyp  Hfysedsg
Cumburgib Smiiy Smensar
CaaeuliLibd

The earning per share of the
company

16l m1 a6 ) eor @ LIRI& &S TaT
GU(IHLDITEHTLD

(& () and (iv) are correct
(1) wpmb (Av) slwuraenal

(D) (11) and (i11) are correct
(11) whmb (11) slwurereane

385 — Business Administration
[Turn over



170.

171.

received.

(A) Compound interest
Fal_(h eullq

(C) Simple interest
eraflu e iy

(E) Answer not known

e dzsflwelcrena

refers to the amount of money on which interest is

eulwima Qumib uasdler etaneus @ DlEHng.

(D) Time value of money
uemrsdlen ey Sl

Which are the sources of valuation of ordinary shares?
gngmert Lhi@setler WHOGLH STIRIGET Tapeu ?

()

(i1)

(iii)

(iv)

A)

(©)

(E)

Required rate or return
Gaaauwirar aumoner elfgn

Constant required return’
Flenewwirer eugponer eflfgid

Changing required return
wrmib aimorer eiflsn

Expected return
aSlTumTGEELURLLD Gu(BLOTETLD
(ii1) only

(1i1) w b

(1) and (111) only

(11) whHmw (1) wL G
Answer not known

allenL Qgflueidene
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172. This is a measure of risk which is found by subtracting the

173.

pessimistic (worst) outcome from the optimistic (best) outcome.
Bg polsesupp (Cuomsorer) uyees  pwGsmsyder  (Hpbs)
Pyefledlphbg ellaté@augen paped GraTUILHIL RUSEH SHeTeSLmED.

(A) Return (B) Probability distribution
Bemeu ey flapssa allblGursd

(C) Risk @ Range
@)L aurey ' ei&s euLby

(E) Answer not known
elenL Gsflweiidana

Premium is the amount by which a bond sells at a value higher than

its par/face value
NABwD aeaug @@ usdrd Bigenr gw/Quurerey ey &L fs
wéuble spslinpin Cgrens

(A) Imﬁact of maturity on bond value
ugdly wdinda pisflullen grasbd
(B) Yield to maturity
pAirESludlen aumLTED

M Impact of required return on bond values
ugdHr wHuyseidr CsaeTear auBLOTETSS 6 STEEWD

(D) Semi annual and Bond values
SADTUTET(H HHID usSr s

(E) Answer not known
eflen QgRuweildane
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174. Compute the present value of a perpetuity of Rs.100 years if the
discount rate is 10 percent
FaTenuly efflgb 10 sseigns @Ebsrd @.100, yarhiseaflar Hlybdrsser
SHCGuUTengw wilumu seamsdlHhiser
(A) 1,100 (B) 1,110
@ 1,000 (D) 100

(E) Answer not known
ellen Qgflwelcvana

175. Assets normally comprises of long-term assets which will yield
return over a period of time in future
Qsmggissdar  Qungleuns  Sar st 2 glsmar 2 deLsdug G
aélisragded @m GO L srasdh@er aumbrasans Saflé@b

(A) Capital budgeting (B) Finance decision
gpevger eure| deweys HLib Bsl wyey

(C) Dividend decision M Investment decision
re5@gmens 1Py WsSLB ey

(E) Answer not known
aflent Gsflweddane
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176. Match correctly the following factors with their corresponding scope

of finance function

Bdl Qeweumigen Gzruiymiw CrréssgiLe styafiamer &f Qsluge

Qummsas :

(1) The evaluation of the worth
of a long term project
e s Sgsdlen
dltieou dUSH Ceuge

(2) Effective Management of the
individual current assets

such as cash

Qorssy Gurdrn gefluiul i
sHCurens QensgisEsaner
SpbuL Hireudlsse

(3) A proper balance will have to
be struck between return
and risk
Al whmib Mevé Gen Gl
sflurer swuhlawamu ghubGss
Geaueir(Hibd

(4) The Finance Manager should
also consider the question of
dividend stability

Bié Cuemert reyssrans
Pevassarannuder Caeteflanwiub
. sMmHd Aararar Ceauarm(ib
W G, 9 MmO
© ®,3,1),Q2

(E) Answer not known
clenL Gzflwefdenc

97

—  Finance decision
- B8 opyey

— Dividend decision

-  FesdsTes (prey

—  Capital budgeting

~ pepan urpQasss
—  Working capital

Management

~  BLUY ppager Gararawn

B) @), @), 3), (1)
D) @), 3), @, ()
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177. Choose the right answer among type which of the following
statement are true about key activities of the Financial Manager?

58 Cueraflear psfu GQewdur@sar uph Weteumd mppseid g
D_GRTanLo ?
(1) Making investment decision

WESLH pyoa aRriLg

(2) Wealth maximisation decision
- Oedeugeg sfsfliLghstar (piyey

(3) Profit maximisation decision
amusens HH&AULSHSTRT (1pig ey

(A)  (©2) and (3) only - @7 (1) only
(2) ohmibd (3) wCEH (1) v Ew
(C) () and (3) only (D) (1) and (2) only

(1) wppid (3) WG (1) LOHILD (2) b Hbd

(E) Answer not known
cllenL Qgflweilcene

178. They protect the owners against the potential consequences of
dishonest acts by Management
Bireungsdlen Crirenwwphp Qewcdaafler &rrg,ﬁu_lmrrm aﬁ]mmmas@a;@ erdlyns

Siel 2 flanwmeTisamneTtl LImg &rsdlemmner

(A) Opportunity cost (B) Structuring expenditure
’ aumuLliy Geeey ' &L eoliF Qewe sdr
@ Bonding expenditure (D) Monitoring expenditure
MevewriyF bleaweser samsTetlliLg Qaweyser

(E) Answer not known
eflenL. GzMuwseferene
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179. The legal and accounting relationships between a firm and its
sources of funds

o0 Hpaasdben iga Hf wsmusEpsen @erwlorar s L wHnb
SaTEE W o meser

180.

s

Traditional approach
umruflu Sieigpean

(B) Limitation of traditional approach

urgbufu sign@epuilen eurby
(C) Modern approach

pelen i@ @y |
(D) Limitation of modern approach

Beian Sigm @ pudlen Uy
(E) Answer not known

efenL GgMwaiicrane

. activity manage the financial affairs any type of-business.

————— Qewdur®h B Seustyrisemer ohs cuamswTar euailssans b
Blireudl&Sng. :
(A) Financial services (B) Marginal analysis

Hé& Comaeuser Hireurs L@ULmi6,
@f Financial manager (D) Stake holders

B4l Goemert UBIGSTTISET
(E) Answer not known

eflenL Gzflweierand
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181. The — - following is a characteristic feature of MIS.
Weneumeuameupied MIS @er priQwedy ojbesb ereveu ?
(A) Data processing irrespective of the organizational structure
Hneuar sl Lemwliemu QurlubssTod 76| QFunnEsd
(B) Providing information in a non-timely manner
gflurer Crrhisafle) sscudGaMaET GULPEIESED
(C) Focused solely past information
- sLbS s saeudsafld LLHICWL seuatd Cogisg s
@) Integrating data from various sources for better decision
making
Spps  wyleuughars udGeam . ysrruselld @mbs sy
R(HEISHen TS S e

(E) Answer not known
ellenL Agflweldena

182. Which technology is used commonly in an MIS for data analysis?
srey uguuruelpstes MIS @d Qurgeurs vweauESsLLEL CAsmid
BILUW erg)?

(#0 Business Intelligence (BI) tools
- cuenfla memanTBla] :

(B) Text editors

&(mellser
(C) Gaming engines

elleperwim B @ubfrtuser
(D) Graphic design software

UDTEMQ GulgeuenLIL] Glnesrl LimmL s6T

(E) Answer not known
el Gz fweidaney
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183. Who typically uses MIS in an organization?
@ Bmeuasder MIS oo uwetu@sgueurser wrr?

184.

(A)

(B)

o

D)

(E)

Only the IT department

saeueh GsmAOEILUS GieD WL (Hib

Only top level executives

o wirol L Hieurdlger wl(Hib

Managers at all levels ,
Sinandgl wLL Bsehgyd 2 érer Gmwrrmr’ra;sh
Only external stock holders

Qeuefl ukiGSTTTSET LI [BID

Answer not known
cllenL Qsflweldency

The most important reason for the failure of MIS

(A)

&
©

(D)

(E)

MIS e Garevells 8s apsduwrer STy -

Users involvement from the initial phase of department
euemiT&fludeln g rbLs UL GHd @msa UweTigallar FHUM®H
Non involvement of user

@mid vwendlelr Lkigeafliily @dansg

Documentation of specification

aflur@EMLIy p,6ueRTRIE6T

All of these

@leneu enanEg) Db

Answer not known
eflan Qsflwelereney
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185. Cloud -based MIS solutions offer the advantages of
Cusssaf grueiwdorer MIS  Sreysdr  YGereu@pd  patersman
GULp MG Sl e 2
(A) Higher initial cost

e gy ribu Gewey
(B) Limited accessibility
CUTW(HESLILIL L SI@IHSD S
M Scalability and flexibility
Slarellige wHmb GBflpais serann
(D) Decreased collaboration '
PSH@PUY GSDDED
(E) Answer not known
cllenL Qgfwelidena

- 186. Days critical activities and its typically available at the beginning of

the each work day is
&AW priser womib gl Ceaume prefliar Osriésssdand Es

Qurgieunas e &G0

(A) Demand report (B) Scheduled report
Cgameu &g SO c9|,rf)la;ma;
Key-indicator report (D) Exception report
wpaflu sy yHéams fleflavsE dlsmes

(E) Answer not known
chlen Qs flweldrena
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187.

188.

Which of the following SDLC'S listed below takes an inactive
approach to the systems development process?

Gereumauanaupiiar erbes SDLC'S wiewiiyseiiar Guwum @ Qswudwpanss
@@ Geuhn AeIEGapLs AaTaErhidrers.

(A) End users (B) Rad
@mll Lwesriv Gy
(C) Proto typing & Traditional waterfall
pgar oAl o Hourdst  umpouflu BreSpsd

(E) Answer not known
sflenL @gilweildens

During the software development which is the factor is most crucial?
Quer@ummer 2 (meunsssden Cung apbg smyenfl Waeyb apéHlwuwbrearg ?

(l People (B) Process
' - LD&EGET ' . ' . Qewdapenp
(C) Product (D) Project
swmiliy Sl ib

(E) Answer not known
eflenL Gsflwelcena
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189. Accounting, finance, marketing and human resource are known as

sawsdwe, Hf, spasiiuBssisw, wHMD walgeueiisd Tazs Ghlsddpar.

@
g

(©)

D)

(E)

Executive information systems
HfeUTs SHEUGD DHeDLILSET

Functional business areas
Qawaeur® euemfla LEHser

Geographic information system
Helludwéd gaeud Benwlily '
Local information system

2 _GTEHT SHEUR HeNLDLIL]

Answer not known
sflenL Qzflweldena

190, Information system that monitor the elementary activities and
transaction of the organizations is called
Bmeuaagseiien  glue.. FLelgsamsser whmb  ufleuTssmearsamer

saTaETal&ED SH6UM DN ——— GTENM| FnHEMD.
(A) Management level system
~ Guergren bl sewiiy
w Operational level system
Qewdur@ Hevew el
(C) Knowledge level system
< Hleyblenesr Bianiolily
(D) Strategic level system

()

epGarumy Hlevew ey

Answer not known
cflan Qzflwaidane
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191.

192.

provides cross-enterprise system to system integration,
online buying and selling.
mhsoariy, yamaafld uriigsd wHmw IhumansE GnsE Hneuer
Sienwlienu euprkiGHng.

M E-procurement (B) E-collaboration
Gevemmu QameTapse Ganerm @SgienpUiL

(C) Integrated planning (D) Integrated delivery
endlananhs S Ol d - pohdaanss ABGLTsD

(E) Answer not known
eflenL Qsflweildensy

E-commerce has increased the focus on customer satisfaction and
delivery -————.
Weteney euissssHen eurgsesureart Hmud womn ABGUrsEsdd seuamnbd
Qsusgdg.
@ Fulfilment

Hlevpay
(B) Getting browsers to buy things

Qur(pLsener aunmis 2 rallsemertl Glumige

(C) Building customer trust/privacy

QMg SENGILITETIT pmtﬁé,m&/g,aﬂu_qlﬂmmmu_} o_(HEUMEHGHSHE
(D) Building customers Loyalty

QUM SMHWIMETT &SNS 2 (HEUTHGSD

(E) Answer not' known
ellen @gflweildvene
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193. These exchanges can involves a third-party involvement, which can

facilitate and provide the infrastructure
@ps uflbrhprsst eperpmbd sruerfler FRUI L o dretL sAwg. @g
2 aT&L L anlolieny) Grafgmadl euLpmis (pigUb.

(A) Customer-to business
eumgSengwmerfiL b @) (mhg euantlaid

M Customer-to-customer-to-peer
aumgSenswmerfiLb @(mhgl curgsesumarflLb @mbg eUiUTeeu

(C) Business-to-business
- aaflasd 0 (mhes canflsn
(D) Business-to-government
T auallasSLB(mhE SisrhED

(E) Answer not known
aflent. Qaflweildena

194. — 1s the receiving and ware housing of raw materials, and
their distribution to manufacturing , as they are required.
———— eranug ppellurplsamart Qungd womb Csllssd wHMb
slee Cgaveuiuid Cung 2 HusHsE AHCUTHSs60.

(A) Procurement (B) Operations
QareTpsed QFudurhaar
d Inbound logistics (D) Out bound logistics
2 GTeU(HLD SETEUML MIGET QeueflFbadeyd gereur _rger

(E) Answer not known
eflenL. GsMwafcrena
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195.

196.

From a —— e-commerce provides a gathering place for
community members to learn transact and collaborate.

P ————— Uleenrgy auigssd Fups 2 milerisdr ufleuiggeer wHMID
PSHIOWES sHNISEAETETET G Sal b @b auphiGEHDS.

(A) Communication perspective (B) Collaborative perspective

Saeuc Qgriiy perGCanmsy, al_(HU umiened ,
(C) Commercial perspective @7 Community perspective

euanfls (pearGarns@ s serGerm_L LD

(E) Answer not known
eler GgMwedivene

Sending extremely critical derogatory, and vulgar email message 1is

called
ey efwiger, @PlejuBssbd, wHmb fltsorer Werarersd Qelflsamar
DAG@LIL|GUG| eTaTLIG

(A) Phishing (B) Trolling

o lfedim CGrmreSim
(99’ Flaming (D) Spamming
QGeoBir evGuULA

(E) Answer not known
eflenL Ggflweiicvensy
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197. Ensures that proper e-commerce transactions, decisions and
activities are performed to serve you more efficiently.
silurer Wer euanllas ufleuissmarsdr, reasdar wHMID Ceudurpad
2 BIGEHEEG Weab Spawwrs Ceama Aeuuliueeams e pf Qeldng.

(A) Personalizing aﬂ Collaboration and trading
el LILLIGTIT&SLD @SEH®PUY WOHMID eUTSSED
(C) Optimizing (D) Profiling
Cubu@sgs® ' sweileurib

(E) Answer not known
ellenr Gsflwelwena

198. A process aimed at improving the volume and /or quality of traffic to
a website is called :
2 aumssasHnG eu@mbd Cund@eansdear Deme WHMID /AHODF SISO
Gubupsgeums Crrsawrss CararL gm Aeudapean ——— oG b.
(A) Search Engine Marketing
Cas@Qurd sbengLILBES0
M Search Engine Optimization
CaEum 2 sLumdsd
(C) Web traffic Optimization
Beear Curs@aursas CLLUGSHSH
(D) Continuous Optimization
QarLiFflunet 2 SLUMSSLD

(E) Answer not known
ellen Qgflwefdane
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199.

200.

Tracks your web site behaviour to provide you with an
individualized web store experience are .

g selluuuamésiul L Q@@L JGUMSMHS D BIGEHEE UPRIS
O_MIGET GUMESHET BLSMS SaTaTerilEdlng.

(A) Traffic management
Gura@eursg Guoararanto
(B) Search management
| GsL_e Cuararenn
(d Profiling and personalizing
suelieuriuBsse wHmb FefliLveTTssD
(D) Behaviour management
BLiens Guareareniy
(E) Answer not known
cfilenL Qg flweldena

Companies that serve as intermediaries in e-commerce transactions .

1s called ,
Weraigy  euisgss  uflaunsgamasailer Qe ggrsisers  Gewduiid

Blyicuenbigear ———— eram A WESUIUREDS!.

(A) E-commerce integration (B) E-commerce channel
flenengn eSS e(hhIdlenearTiiLy - Weneng) cuirgss Gaared
Infomediaries (D) Online community
HHEUD DETL_HBIGHET Genemmweulll sepsbd

~ (E) Answer not known

eflenL Qgflweiicene
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